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Introduction

Definition

The Cold War is the name given to the period from the end of the Second World War in 1945, until 1989. During this time, the two most powerful countries on earth, the United States of America (USA) and the Union of Soviet Socialist Republics (USSR), confronted and challenged each other. The Cold War was a time of extreme tension, and threat of war. These two countries are often known as Superpowers – for the simple reason that they were far stronger and more powerful than any other countries.

Yet, although the fear and threat of war was very real, and there were times when the risk of mutual annihilation seemed imminent, the USA and the USSR never went to war with each other. There certainly were occasions when they threatened each other, or squared up to each other. However, on these occasions, both sides were fully aware of the consequences of a war involving nuclear weapons. As a result, as each crisis developed, attempts were always made to resolve it by non-violent means – by diplomacy, or negotiation. The confrontation between the USA and the USSR remained a cold war: direct conflict between them had to be avoided at all costs – and it was avoided.

Rival ideologies

The ideological rivalry between the Superpowers is central to an understanding of the Cold War. Each side had its own distinct ideology, a body of beliefs and values, which influenced all its policies and initiatives, as the Cold War unfolded.

The United States
The central focus of the American ideology was a strong commitment to democracy and to free enterprise, or capitalism. This can be characterised briefly by:

· free elections, with a choice of parties for voters to choose from

· democratic freedoms – freedom of speech, expression and assembly

· free mass media – independent newspapers, radio and television, not run by the state

· free enterprise – business, manufacturing, banking, etc, with individual or corporate control of the means of wealth creation

· individual rights – the right to vote, the right to a fair trial.

The Soviet Union
The Russian communist ideology was based on Marxism/Leninism, with a strong commitment to equality. This can be exemplified by:

· a one-party state, with the Communist Party being the only permitted party

· a totalitarian system, with all aspects of life being influenced and directed by the prevailing ideology of communism

· an emphasis on equality at all levels of society

· strict control of the mass media – extensive censorship

· state control of the means of wealth creation – no independent enterprise

· suppression of dissenting opinions and opposition – with strict enforcement by a political police, or ‘secret’ police.

Tasks

1.
Draw up a comparison between the ideologies and beliefs of the United States and the Soviet Union. You can do this in a table if you like.

How was the cold war ‘fought’, or conducted?
The Cold War was conducted in a number of ways, always short of direct conflict between the USA and the USSR.

The arms race
The two sides engaged in an ongoing nuclear and conventional arms race from 1945 onwards. Each side tried to develop increasingly powerful and sophisticated weapons systems, in frantic efforts to maintain a lead over its rival. Both sides were aware that these nuclear weapons were never intended to be used.

Espionage
Both sides had sophisticated networks of spies, secret agents and double agents, engaged in gathering intelligence and information. The US made extensive use of the Central Intelligence Agency for this purpose, and the USSR used the KGB for the same purpose.

Propaganda
The American radio station ‘Voice of America’ broadcast continually to the USSR and Eastern Europe. Radio Moscow, in turn, broadcast to the West.

Alliances
Alliances were a key feature of the rivalry during the Cold War: NATO for the USA and Western Europe, and the Warsaw Pact for the USSR and its satellite states. Both Alliances had well-organised command networks, and carried out regular drills and exercises.

Space
The Space Race was configured by the Cold War. The USSR derived great prestige from the launch of the first space satellite, Sputnik I, in 1957 – the Americans did likewise, with the success of their Moon landing in 1969.

Sport
Even international sport was affected by Cold War rivalry, with Americans and Russians competing over gold metals at the Olympics.

Aid programmes
During the Cold War, both sides attempted to extend their influence by offering to aid to other countries urgently in need of help. This was begun by the American Marshall Plan in the late 1940s. In the 1950s, the USSR began offering aid to some of the newly independent countries in Asia and Africa – the USA did the same. Each side was attempting to influence the recipients into being more favourably disposed towards them.

Crisis management: Tests of leadership for the superpowers

On a number of occasions during the course of the Cold War, serious episodes of tension and crisis developed. The confrontation between the USA and the USSR became more serious, dramatic and tense, increasing the risk of armed confrontation, and war between the two countries.

In some cases, the crisis involved only one Superpower. The clearest examples of this were the intervention of the USSR in Hungary in 1956 and Czechoslovakia in 1968. In both instances, the USA avoided becoming directly involved, limiting its response to diplomatic protests at the Soviet action. The USA was tacitly accepting in both cases that the action, while cruel and repressive, was taking place in the USSR’s zone of influence in Eastern Europe and, in consequence, there was relatively little that the Americans could do.

The war in Vietnam was certainly the bloodiest episode of the Cold War. The USA intervened in Vietnam in strength, and made a major commitment towards checking the advance of communism. In this case, the USSR limited its own action to supplying military resources to North Vietnam, and did not get directly involved, even though North Vietnam was a communist state under attack.

The Berlin Crisis in 1961 was potentially very serious, with at one point a confrontation between US and Soviet forces. However, the confrontation remained limited, and tensions eased.

The Cuban Missiles Crisis of 1962 was the ultimate crisis. The USA and the USSR confronted each other directly, and war became very close indeed. However, common sense prevailed, and the crisis came to an end. World War III was avoided, and an agreement reached to resolve the difficulties.

The leaders of the Superpowers – Eisenhower, Kennedy, Johnson, Khrushchev, Brezhnev – were intelligent and rational men. They were fully aware of the risks of nuclear war and, as each crisis unfolded, they made massive efforts to ensure that the confrontation remained as limited as possible. The American and Russian leaders knew that if they ever got it wrong and war broke out, the consequences for them, and possibly for the planet, could be catastrophic.

Therefore, a key aspect of the study of the history of the Cold War is to consider and judge how each successive crisis was managed, and how effectively (or otherwise) the leaders of the USA and the USSR dealt with the issues of the time.

Tasks

1.
Make up a set of revision notes for younger pupils, explaining the most important differences between the USA and the USSR. Give your notes the title ‘Understanding the Differences’. You should focus clearly on the main points of difference between the two countries – on how the governments of the two countries worked and how their economies were organised.

2.
Draw a spider diagram showing the different ways in which the Cold War was ‘fought’. Think carefully about all the ways in which the USA and the USSR competed against each other.

3.
Explain why, during the Cold War, the Superpowers had to make sure that, as far as possible, they never came into direct conflict with each other.
Section 1: Opening moves

The Cold War began as World War II came to an end. In the struggle against Nazi Germany, the United States and the Soviet Union had been allies, and had co-operated actively with each other. However, as the war drew to an end, it became increasingly obvious that tensions and strains were starting to develop, and the wartime Grand Alliance was beginning to crumble.

The USA and the USSR became increasingly suspicious of each other as time passed. This became apparent first at the two conferences held as the Second World War came to an end – at Yalta and Potsdam.

The Yalta Conference

This conference was held in February 1945, at Yalta in the Russian Crimea. It was attended by President Roosevelt of the USA, Josef Stalin, the Soviet dictator, and Winston Churchill, the British Prime Minister. A number of decisions were made.

· The final defeat of Germany and Japan – Stalin agreed to join the war against Japan within three months of the defeat of Germany.

· It was agreed that Germany and Austria would be occupied by the four victorious powers – USA, USSR, the UK and France; the two capital cities, Berlin and Vienna, would also be under four-power occupation.

· Free, democratic elections would be held in Poland and the rest of Eastern Europe, which was, at that time, occupied by Soviet troops.

· There would be territorial changes in Eastern Europe – Poland would lose 30% of its territory to Russia, but would be given large areas of Eastern Germany.

The Potsdam Conference

This conference was held at Potsdam, just outside Berlin, in July and August 1945. There were some changes of leadership, with Truman taking over as US president after Roosevelt’s death, and Attlee replacing Churchill.

· Agreement was reached on the occupation zones in Germany and Austria.

· The allies agreed on the trial of Nazi leaders for war crimes.

· There would be free elections in Germany.

· Germany would pay war damages, mainly to the USSR.

· The German-speaking population in Eastern Europe would all be compelled to live in Germany.

The first signs of tension

Even with the onset of victory over Nazi Germany, and the widespread rejoicing at the establishment of peace, indications of disagreement and tension between East and West surfaced quickly. This became evident at the Potsdam Conference.

Eastern Europe
The Russian Army was now the dominant military force in almost all the countries of Eastern Europe. Although Stalin had promised that free elections would take place, there were already indications of problems there – the power of local Communist Parties was being strengthened and increased, while non-Communist parties faced hostility and difficulties from the Russians. The Western powers became concerned that free democratic elections in Eastern Europe would never take place.

The atomic bomb
At the Potsdam Conference, President Truman informed Stalin that the USA had successfully tested an atomic bomb. Stalin became immediately suspicious of this, since the Americans had never informed him that they were working on such a device. He ordered teams of Russian scientists to commence work on a similar weapon. Stalin became convinced that the Americans were attempting to achieve military superiority over the USSR, and was determined that this would not happen.

In effect, this marked the beginning of the Arms Race between the two powers, and the onset of the Cold War.

The shape of post-war Europe: conflicting aims

A key feature of international politics at this time was that it became increasingly obvious that the two Superpowers disagreed fundamentally about what Europe should be like after World War II.

USA
The USA generally favoured the establishment of democratic governments in Europe. It looked to a Europe of well-structured democracies, with free and regular elections, a choice of political parties, the democratic rights of free speech, freedom of expression, and the rule of law. The Americans believed that this would be best for Europe and would prevent the growth of authoritarian regimes such as Nazi Germany.

USSR
For Stalin, the overwhelming need was for security, to ensure that the Soviet Union was never again faced with an invasion on the scale of Hitler’s attack in 1941. Russia had paid a terrible price for that invasion, with almost 20 million deaths. As a result, Stalin saw the role of Eastern Europe in the post-war world as being to safeguard Russia from any attack from the West. The countries of Eastern Europe would act as a buffer or shield. For this to happen there would have to be close links between Russia and Eastern Europe – Russia would have to dominate the area.

Stalin had no interest in the development of democracy in Eastern Europe – quite the reverse!
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Tasks

For this exercise, you should work with a partner. One of you will represent the USA – the other person represents the USSR.

Present a clear statement of the reasons why serious disagreements developed between the USA and the USSR in the years after 1945. Each person should present a list of reasons, setting out clearly why you dislike and distrust the other Superpower.

Here are some questions that could help with the presentation.

· In what ways did the conferences at Yalta and Potsdam reveal growing tension and suspicion between the USA and the USSR?

· How did the Soviet view of Europe, in the post-war years, differ from that of the USA?

· What territorial changes took place, affecting the borders of some of the East European states?

· In your opinion, how serious was the development of the atom bomb by the United States in increasing suspicions and tensions with the USSR?

Soviet pressure starts to increase

Within a short time, it became obvious that pressure from the Soviet Union was beginning to increase in a number of areas, and cause growing suspicion in the West.

Iran
During World War II, it had been agreed that Soviet forces should control the northern areas of Iran until hostilities ended. However, the Russians delayed the departure of their soldiers until 1946, causing Western concern at their prolonged presence in a vital oil-producing region.

Turkey 
Turkey came under Soviet pressure in two areas, over land frontiers, and also the right of Soviet warships to pass through the Dardanelles Straits. The USA declared strong support for Turkey over this.

Greece
A civil war was raging in Greece at this time, and the USA believed strongly that Greek Communists were receiving Soviet backing. This was not the case, although communist Yugoslavia was involved. However, yet again, the West became very concerned at the actual and perceived threat from the USSR

The Truman Doctrine

In a key speech on 12 March 1947, President Harry Truman spelt out the American position very clearly. In his speech, which formed the basis of the ‘Truman Doctrine’, the President swung the strength of the USA behind freedom and democracy.

The following is an extract from President Truman’s speech.

‘The gravity of the situation which confronts the world today necessitates my appearance before a joint session of Congress …

One of the primary objectives of the foreign policy of the United States is the creation of conditions in which we and other nations will be able to work out a way of life free from coercion …

At the present moment in world history nearly every nation must choose between alternative ways of life. The choice is too often not a free one.

Our way of life is based upon the will of the majority, and is distinguished by free institutions, representative government, free elections, guarantees of individual liberty, freedom of speech and religion, and freedom from political oppression.

The second way of life is based upon the will of a minority forcibly imposed upon the majority. It relies upon terror and oppression, a controlled press and radio, fixed elections, and the suppression of personal freedoms …

I believe that it must be the policy of the United States to support free peoples who are resisting attempted subjugation by armed minorities or by outside pressures.’

Truman then asked the United States Congress to agree to substantial financial support for both Greece and Turkey. This was agreed, and the threat of communist pressure in these countries began to recede.

The Marshall Plan

The USA believed that communism flourished and grew strong wherever there was poverty and hardship. Large areas of Europe were still devastated after the end of World War II, and President Truman was concerned that this would facilitate the spread of communism. He noted with concern the large communist parties existing in France and Italy.

Truman’s Secretary of State, George Marshall, drew up a comprehensive plan for the economic recovery of Europe. From 1947 to 1951, American aid worth over $13,000 million was sent to Western Europe, aimed primarily at encouraging the recovery of industry and agriculture in the war-damaged countries. The programme of Marshall Aid was of immense assistance to the countries that received it, and contributed towards the European economic boom of the 1950s.

Marshall Aid was also offered to Eastern Europe, but the USSR rejected it, as did the other East European states, by now under strong Soviet influence.

Tasks

1.
For what reasons did the United States become concerned about the development of Soviet pressures at this time?

2.
Read the extract from the speech by President Truman. According to him, what choices did many countries have to make about the way they were governed?

3.
What response does he urge the United States to make?

4.
For what reasons did the United States develop the Marshall Aid programme?

5.
How important was Marshall Aid in helping the economic recovery of Western Europe?
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Section 2: The Soviet takeover of Eastern Europe
The creation of the satellite states

Since the end of the Second World War, the countries of Eastern Europe had been under the occupation of the Red Army. Stalin now began to move much more strongly to bring these countries under very strict Soviet domination, with all effective power over them in Russian hands.

The countries of Eastern Europe were to become satellite states of the Soviet Union. In effect, they would be smaller versions of the Soviet Union, with political and economic systems that would be identical to those developed by Stalin, in Russia. At all times, these satellite states would support the Soviet Union, and follow its lead.

· The USSR began to give massive support to national Communist Parties in the East European states.

· Democratic politics, with voters having a choice of parties, would come to an end. Only the Communist party would be permitted to exist, and its leaders would have to be approved by Moscow. All other parties would be banned.

· Democratic freedoms (freedom of speech, freedom of expression, etc) would come to an end.

· There would be strict censorship of the mass media – of newspapers, radio, films and, later, of television. The Communist Party would control everything that was issued by the mass media.

· Private enterprise would come to an end. Industry, land, banks, transport, etc, would be taken over by the state.

· A powerful political police, or secret police, would be set up to ensure obedience, and to deal with any opposition to the Communist system.

The Communist takeover

The Soviet-backed Communist takeover of Eastern Europe went ahead fairly rapidly in 1947 and 1948.

Hungary
Early in 1947, the Hungarian Communist Party, with strong Soviet support, began strong criticism of the main opposition party, and arrested numbers of its leaders. At elections, the Communist Party became the largest party and formed the government of Hungary, although without a majority in the parliament. In November 1947 all other parties were dissolved, and Hungary became a one-party communist state.

Bulgaria
In August 1947, the Communists accused the leader of the main opposition party of plotting to seize power. He was arrested and executed after being accused of fascist sympathies – the opposition party was banned. The Bulgarian Communist Party took over the running of the country. 

Romania
In October 1947, the main opposition party was banned, and its leaders arrested. King Michael of Romania was forced to abdicate and flee the country.

Poland
A similar process took place in Poland, with the main opposition parties and groups being banned and their leaders arrested. The Communist Party soon gained control of the country.

Czechoslovakia 
Before World War II, Czechoslovakia had been a successful democracy and it took the Communists a little longer to establish control. However, by the start of 1948, President Benes had been forced to resign and a new government, dominated by the Communists, had taken over. In March 1948, Jan Masaryk, the last non-communist government minister, died in mysterious circumstances. All other parties were banned and the Communist Party’s grip on power became secure.

Tasks

1.
For this task, imagine that you are a foreign correspondent or a journalist working for a leading British newspaper. You have been sent on a tour of Eastern Europe to investigate the changes that have been taking place there, as communist governments become established. You have now to prepare your report for the newspaper.

Your report should try to include some of the following:

· why Josef Stalin was so keen to establish Soviet control over Eastern Europe

· the methods used to establish this control

· what life was like in the East European states after the Soviet Union had gained control and set up communist governments.

Section 3: The pace quickens: the Berlin Crisis, 1948–9

The main area of concern for the Western powers now moved to Berlin.

Since the end of the war, Germany had been placed under four-power control – the USA, USSR, the UK and France. The city of Berlin, which was inside the Soviet occupation zone, was similarly placed under four-power control.

By the early months of 1948, it was obvious that relations between the USA and the USSR had deteriorated badly, and that a crisis was developing over Germany.

The West had become concerned at Russia’s refusal to reveal how many resources it had removed from Germany in reparations for war damages.

The Russians were annoyed at the decision to merge the British and American occupation zones into a unified economic area, seeing this as an attempt to begin the revival of a powerful Germany. This was intensified by the announcement that there would be a single unified currency in the Western zones to come into operation in June 1948. On 20 March 1948, the Russians walked out of the Allied Control Council.

Stalin now made the decision to confront and challenge the West over Berlin.

Stalin’s move: the blockade of West Berlin

Stalin’s aim was to put pressure on the West by an economic blockade of the three Western sectors of Berlin. By closing off all access to the city by land, Stalin believed that Berlin would rapidly face major shortages of food and fuel, with the people facing hunger and cold. The Western powers would be unable to cope with these problems, and the city would collapse into chaos and despair. He reckoned that the only option for the West would be to abandon West Berlin – and leave the Western occupation zones to be taken over by the USSR.

The Western powers, led by the USA, could challenge Stalin’s action, and attempt to open the land routes to Berlin by force. However, this would 
almost certainly mean war with the USSR, and Stalin did not believe they had the courage to challenge him in this way.

On 1 April 1948, the first restrictions on access to West Berlin across the Soviet zone came into effect. Within a few weeks, all road, rail and canal links to the city had been cut. Stalin believed that all he had to do now was to wait – West Berlin would descend into chaos, the three Western powers would pull out, and Russian forces would move in. Stalin would have won a major victory, and American weakness would be obvious to the entire world.

The West’s counter-move: the Berlin Airlift

The response by the West was to begin supplying West Berlin by air, with flights using the ‘Air Corridors’ agreed in 1945 for access to the city. Organised by General Lucius Clay, the US Air Force, supported by the RAF, began round-the-clock flights by transport planes to West Berlin. All the city’s needs were supplied by air – food, medication, raw materials for factories, even coal for Berlin’s power stations. By May 1949, over 2 million tonnes of supplies had reached the city.

Stalin could have ordered the Red Air Force to attack and shoot down the transport planes. However, this would be an act of war – and the Western powers did not think that Stalin wanted this. The West was responding to Stalin’s move. He clearly wanted to get control of West Berlin, but was he prepared to risk going to war with the United States?

Stalin’s bluff had been called!

The West was right – Stalin was not prepared to risk going to war. In May 1949, the blockade of West Berlin was lifted; the land and canal routes were reopened. Stalin’s attempt to force the Western powers to abandon West Berlin had ended in failure.

The Western powers had achieved a major success in a serious confrontation with the USSR.

Tasks

1.
Describe how disputes developed between the USA and the USSR in the early months of 1948.

2.
Explain why the West’s response to Stalin’s action over Berlin was so successful.

3.
Imagine that you are a leading adviser to President Truman. You have been sent to West Berlin to study the developing crisis there, following from the closure of the land routes by the Russians, and the West’s response of the airlift. You have to prepare a report for the President, setting out how serious the risk of war is over Berlin.

The Berlin Airlift had been a clear success for the West led by the United States. Stalin had met with a decisive check to his plans to extend Soviet power further in Europe, and the West could be satisfied with the outcome of the crisis.

However, the Berlin Crisis of 1948–9 had one further important effect. The United States was now totally convinced that communism, under Soviet direction, was posing a frightening challenge to democracy everywhere, but particularly in Western Europe. The USA had already become alarmed at the Soviet takeover of the East European states, particularly Czechoslovakia. The events in Berlin now raised the prospect of a threat to Western Europe. 

The West European states were simply not powerful enough to stand up to the Soviet Union. Therefore, the USA would make a commitment to support the struggle against the pressure from Soviet Communism. From now on, United States armed forces would be committed to the defence of Western Europe.

The formation of the North Atlantic Treaty Organisation

The North Atlantic Treaty was signed on 4 April 1949. The Treaty was signed by 12 countries: the USA, Canada, the UK, France, Belgium, the Netherlands, Luxembourg, Italy, Denmark, Norway, Iceland and Portugal. Later, other countries also joined – Greece and Turkey in 1952, and West Germany.

By signing this Treaty, the countries were committing themselves to an alliance in the face of communist aggression, and to a common defence policy. The USA, with its immense power and its developing nuclear forces, was by far the strongest member of this alliance. Bases for American military forces began to be established in Western Europe. 

The North Atlantic Treaty was concerned with defence – it would only come into effect if any member of the North Atlantic Treaty Organisation (NATO) was attacked. The Treaty made this very clear:

‘… an attack on any one member shall be regarded as an attack on all members …’
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NATO rapidly established command and organisation structures. There were frequent meetings by representatives of member governments. Regular exercises by combined land, sea and air forces took place with American forces actively participating. The message to the USSR was being made very clear – NATO meant business!

Tasks

1.
What were the key reasons for the formation of NATO in 1949?

2.
In your opinion, what did each of the following gain from NATO membership?


The states of Western Europe



The United States

3.
NATO has always stressed that it was a defensive alliance. Why do you think this was important, as the Cold War developed?

Section 4: The nuclear arms race 

The nuclear arms race was the permanent and persistent theme of the Cold War. From the later 1940s onwards, the Superpowers engaged in a frantic competition to develop and construct larger and more sophisticated nuclear weapons with which to threaten each other. Each side was motivated by the urgency of the arms race to improve and modernise its stockpiles of nuclear weapons – before the other side did so.

As the nuclear arms race developed, a new fact became increasingly apparent. The two sides could not take the risk of going to war with each other. If this happened, there was a real possibility that both could be destroyed – that neither side could win. People began to speak of the idea of mutually assured destruction – that in a nuclear war, the Superpowers would destroy each other.

Thus, it can be argued that one important effect of the nuclear arms race was actually to prevent war between the Superpowers. There were many times of crisis and tension during the Cold War, but both sides were aware of the risks and took steps to try to avoid confrontations. As each crisis of the Cold War unfolded, both sides were usually working hard to find ways of resolving it, and of getting out of the difficulty, before a disastrous confrontation occurred.

It remains a fact that the Cold War remained a cold war – the USSR and the USA confronted each other, threatened and squared up to each other, but they never went to war with each other. The leaders of the Superpowers were intelligent and rational individuals – they knew the risks they faced, and took care never to go too far and risk war. The stakes were far too high for that.

The development of the arms race

‘And I am become Death, the Shatterer of Worlds.’

This quotation from Hindu scripture was made by Robert Oppenheimer, the leader of the team of American scientists who developed the first atomic bomb, on witnessing the first nuclear test in the desert of New Mexico on 16 
June 1945. Oppenheimer had no illusions about what the development of nuclear weapons might mean for the world.

In 1945, the USA led the development of nuclear weapons. The test in New Mexico was followed by the destruction of the Japanese cities of Hiroshima and Nagasaki, and the end of World War II.

Some key dates

September 1945: President Truman authorised the programme of American nuclear weapons development.

September 1949: The first Soviet nuclear test of an atom-bomb – the Arms Race had commenced.

November 1952: The USA successfully tested its first hydrogen bomb, with a power of 3.5 megatonnes.

August 1953: The first test of a Soviet H-bomb – of 15 megatonnes.

Delivery systems

At the same time as the development of the weapons, both sides began to develop methods of getting them to their targets

Long range bombers

In the late 1940s and 1950s, both sides built fleets of bombers to carry nuclear weapons – the most well-known of these were the American B-47 and B52.

Ballistic missiles

Long range missile technology was improving and, by the later 1950s, these were being adapted to carry nuclear warheads. As the range of the missiles extended, they were entitled Intercontinental Ballistic Missiles, or ICBMs. Both sides developed methods of protecting their missile sites from surprise attack. For example, the American Minuteman missiles were placed in heavily protected underground launching chambers called silos, from which they could be launched with just a few minutes warning.

Submarine launched missiles

This was very much a development of the 1960s, with the USA taking an early lead with the Polaris missile. Missile carrying nuclear submarines were constantly on the move, and difficult to detect.

Tactical nuclear missiles

These were less powerful, shorter range weapons designed for use on the battlefield, against enemy ground forces.

Multi-warhead missiles

This was a development of the late 1960s and early 1970s. Existing missiles such as the Polaris and Minuteman could be equipped with a number of warheads, each capable of being directed to a separate target. For example, a Polaris submarine, carrying 16 missiles, could now fire 48 warheads – a vast increase in destructive power.

Mutually assured destruction

By the 1960s, both Superpowers were building up increasing stocks of nuclear weapons. Both sides were fully aware of the terrifying power of these weapons, and what would be the likely consequences if they were ever to be used. Both sides would suffer unimaginable loss of life and destruction – neither side would win a nuclear war. The Americans expressed this situation very realistically through the policy of Mutually Assured Destruction (MAD).

[image: image5.jpg]



[image: image6.jpg]



Tasks

1.
Draw up a table to show the development of the nuclear arms race from 1945 to the 1960s.

2.
What effects did the arms race have on relations between the Superpowers?

3.
Now for something a bit scary! Can you think of any sets of circumstances or situations where the unthinkable could have taken place, and nuclear weapons might actually have been used?

Source exercise: worked example

As you know, the questions in the examination make use of sources. Your first exercise on source work is shown below. This is a worked example – you will be given some advice and guidance as to how you should tackle it. There are more worked examples for you to tackle, further on in this booklet – there are also other sources for you to try on your own!

However, this time … you get some help!

Source 1

From The Cold War, by J W Mason, 1996

‘The half decade from 1957 to 1962 has been called the ‘nuclear epoch’, a time when the danger of nuclear war was greater than ever before or since. On 4 October 1957, the Soviet Union launched the first man-made satellite, called Sputnik, into orbit around the earth. It was a spectacular scientific achievement that alarmed the United States, not least because of its military implications. If the USSR had a rocket capable of putting a satellite into orbit they could also produce a rocket with sufficient thrust to launch an intercontinental ballistic missile with a nuclear warhead against a target in the USA. At a stroke, the USSR seemed to have changed the East–West strategic balance.’

1.
How useful is Source 1 as evidence of the development of the nuclear arms race between the Superpowers at the time?

You should begin by looking carefully at the question … and getting very clear exactly what you are being asked to do. Note that in the exam you will be giver given some further support as to how you tackle it – you are asked to consider the origin, possible purpose and content.

This question is quite clear – you are looking for evidence of the development of the nuclear arms race within the source, and you should be looking carefully at the three headings to help you. 

Read the source again: underline any words or phrases that you think are relevant to the question and write them down in the space below.

Now, start thinking about any points from recall, not in the source, that are relevant to the question. These points could come from this booklet, a textbook or your class notes.

Write down these points in the space below.

Source………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

Recall….……………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

Compare your answers with a partner. Check each other’s work – what have you missed?

Finally, turn to the reference sheets at the end of this booklet, and fully check your answer there.

Section 5: The Cold War in Asia

In the 1950s, there was a significant growth in tension in Asia, as the Cold War spread to a new area of the globe. For the United States, this became a matter of major concern and led to a serious increase in American fears of Communist expansion.

China

The Chinese Communists, under the leadership of Mao, won victory in 1949 in the long-running Civil War, and created the People’s Republic of China. The USA saw this as a major challenge to its position in Asia, and began to develop policies of checking the advance of Communism in that part of the world. In particular, the USA became concerned that Russia and China would act together to extend Communism to other Asian countries.

The USA increasingly developed the view that it was its role to check the advance of Communism in Asia, by whatever means possible. Accordingly, the USA did not extend diplomatic recognition to Communist China, and instead gave support to Nationalist China under Chiang Kai Shek, based on the island of Taiwan. The Americans also viewed with concern the collapse of French authority in Indo-China.

This American concern with developments in Asia reached its culmination in the 1960s, with the massive deployment of US forces in the Vietnam War.

The Korean War 1950–3

Background

For many years, Korea had been controlled by the Japanese Empire. With the collapse of Japan in 1945, the country was partitioned into two states. The communist state of North Korea was established with Soviet support, under the leadership of Kim Il Sung. In South Korea, elections were held and the anti-communist Syngman Rhee emerged as leader. Stalin provided extensive military support to North Korea, and the USA gave aid and support to South Korea.

The course of the war

1.
The war began on 25 June 1950, when eight North Korean army divisions invaded South Korea. South Korea’s armed forces were speedily defeated, and Seoul, the capital city was overrun.

2.
President Truman saw this attack as a deliberate move by communism to extend its power by force, and moved rapidly to give military support to South Korea. Within a few weeks, substantial US ground forces were on their way to Korea, supported by powerful naval and air forces. The United Nations Security Council also supported South Korea, and authorised action by forces from other UN members.

3.
At this stage, the Korean War took a dramatically serious turn, with the surprise intervention of 350.000 troops from China. General Macarthur had made a number of statements which had alarmed the Chinese who feared that he might invade China. The Chinese troops were officially classed as ‘volunteers’, but, very obviously, the Chinese government had acted deliberately.

4.
By November 1950, the UN forces (predominantly American) in the North had been driven back south of the 38 Parallel of Latitude, into South Korea. By January 1951, the Communist offensive had captured Seoul for the second time.

5.
From January to April 1951, UN offensives gradually drove the Communist forces back and, by the summer, the battlefront had stabilised around the 38 Parallel, roughly where the war had started. From this point onwards, the war in Korea became relatively static, with few major advances being made by either side. Ceasefire talks began in an effort to bring the war to a conclusion.

6.
In July 1953, an armistice was signed, bring the fighting in Korea to a conclusion. The two states remained divided, with a peace-line, controlled by the United Nations, being established between them. 

Tasks

1.
Why did the United States become so concerned at the Communist victory in China in 1949?

2.
Make up your own outline of the course of the Korean War, 1950–3, showing who the main participants were, and explaining the main events of the struggle. In addition to this, do you think that there was ever a risk that this war could have led to a serious confrontation between the Superpowers?

Section 6: The Hungarian uprising of 1956

1947–56 across Eastern Europe

Hungary appeared to be a very typical satellite. In 1947 elections were held, under Soviet control, which ensured that the Hungarian Communist Party became the largest party. Led by Matyas Rakosi, the Communist Party took control of the police, and all levels of administration. Rakosi used his power ruthlessly: all other parties were banned; Lazslo Rajk, Rakosi’s main rival, was executed after a show trial.

In 1952, Rakosi combined the posts of General Secretary of the Communist Party and Prime Minister. Hungary appeared to be a loyal and docile satellite state, with all the typical apparatus of censorship, propaganda, secret police organisations, and ruthless suppression of opposition.

1953: The Death of Josef Stalin

Stalin’s death in 1953 marked a watershed in post-war European history. The removal of the dictator, and the question of a successor (or successors) within the USSR, created uncertainty in Eastern Europe.

The post-war structure of rigid, centrally controlled, one-party states was the Stalinist system. But Stalin was gone. There were bound to be changes – even in the USSR itself, things were changing. What would happen in Eastern Europe?

East Germany, 1953

The Communist East German government pushed ahead with heavy industry development and the collectivisation of agriculture. In May 1953, workers demonstrations led to strikes in East Berlin and demands for economic change.

On 17 June the Red Army intervened – the strikes were broken up. Leaders were imprisoned and 40 were later executed.

Poland, 1956

Many Poles hoped for change, following the introduction of reform policies in the USSR under Khrushchev. After a series of strikes and demonstrations, a reforming government was established, with Wladsylav Gomulka as First Secretary of the Communist Party. Gomulka introduced economic reforms, reducing central control. However, Poland remained a one-party state, and a member of COMECON, and the Warsaw Pact.

Hungary, 1953–6

By mid-1953, Hungary was facing difficulties:

· a bad harvest – which led to higher food prices

· problems with central planning

· growing unrest among the people.

Following this, changes were ordered – by the USSR.

Rakosi remained as First Secretary of the Communist Party, but was forced to hand over the premiership to Imre Nagy, who had strongly criticised the over-centralisation of planning. Nagy slowed down the collectivisation of agriculture, allowed greater use of private workshops, and increased agricultural investment.

Nagy’s reforms antagonised the hard-line Stalinists within the Hungarian Communist Party – in March 1955 Nagy was sacked, and Rakosi resumed the premiership.

The Hungarian Revolution of 1956

Independent political clubs began to appear from mid-1955. Liberal and nationalist pressure groups such as the Petofi Circle developed from writers and literary organisations. A major boost to this pressure for change came with the publication of Khrushchev’s ‘Secret Speech’ in February 1956, in which he denounced Stalin, and Stalinism. The fact that the Secretary of the Soviet Communist Party had delivered a massive attack on the entire system created by Stalin had a major impact on developments inside Hungary.

The removal of Rakosi

Rakosi was now increasingly alarmed at the prospect of losing control of events. He expelled critics from the Communist Party, and closed down the 
Petofi Circle. In July 1956, Rakosi resigned as First Secretary, after a visit to Budapest by Mikoyan and Suslov, two senior members of the Soviet government.

Rakosi was replaced by another Stalinist, Ernoe Geroe, although more moderate communists, like Janos Kadar were now promoted.

The discontent grows

These changes did little to stem the unrest. In early October 1956, a huge funeral procession was held in Budapest for Laszlo Rajk, the victim of Stalin’s purge, who had now been rehabilitated. Over 300,000 attended the procession, which was led by Imre Nagy. 

Workers’ Councils were formed to demand political freedom: fair, democratic elections, freedom of the press, and freedom of expression.

The Petofi Circle called for the return of Imre Nagy and further reforms.

Finally, on 23 October, a huge student demonstration took place in Budapest. The police lost control: the Stalin monument was destroyed, the radio station occupied and Hungarian national flags displayed. Serious violence developed with widespread attacks on the secret police. The whole system of government was collapsing.

Geroe now made Nagy Prime Minister and, at the same time, asked for Soviet troops to restore order.

Tasks

1.
Explain why unrest developed so rapidly in Hungary in 1956.

2.
What forms did this unrest take?

Crisis

By now, the Hungarian Communist Party had lost control of events: the Hungarian Army would no longer obey orders! On 24 October, a general strike took place in Budapest. Mikoyan and Suslov now returned to Budapest, assessed the situation, and removed Geroe. He was replaced as First Secretary by Janos Kadar, apparently more liberal in his views.

Meanwhile, the strike spread: towns were taken over by the new workers’ councils; members of the AVO, the hated secret police, were attacked and sometimes lynched. Serious fighting developed in Budapest, between the Hungarian people and Russian troops – there were many casualties and serious damage to buildings in the city centre.
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Nagy’s government responded to the national uprising as best it could – the country, by now, was out of control. Nagy was being swept along by events.

1. He declared his support for the national uprising.

2. He promised a return to the old, multi-party system.

3. He promised free elections.

4. Nagy also secured a ceasefire, and sought the withdrawal of Soviet forces from Hungary (apparently promised by Mikoyan and Suslov on 30 October) – Soviet troops pulled out of the centre of Budapest but, ominously, remained on the outskirts 

5. Finally, and most dramatically of all, on 1 November, Nagy declared that Hungary was leaving the Warsaw Pact. He appealed to the United Nations for support – Hungary would become a neutral country.

The Soviet Crackdown

Events came rapidly to a head. In Moscow, the Soviet Presidium believed that the complete collapse of communism in Hungary was taking place. This was totally unacceptable. The commander of Soviet forces in Hungary, Marshall Koniev, was ordered to prepare to use force against the rebel Hungarians.

Janos Kadar, the Party leader, now fled to the USSR, where at the beginning of November he announced the formation of rival Hungarian government. As head of this government, Kadar appealed to the Russians to crush the rebellion, which was denounced as ‘reactionary’ and ‘counter-revolutionary’. Up to this point, Kadar had been a Nagy supporter, but now, clearly, the chance to rise to power with Russian support led him to abandon and betray his colleagues.
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The following day, 4 November 1956, Soviet forces began to fight their way into Budapest. In the following week, Hungarian resistance was crushed. Desperate appeals to the West went unanswered. Against the massive power of the Red Army, the Hungarians had little chance. By 11 November, the rebellion was over. Over 3,000 Hungarians were killed in the fighting, 20,000 fled abroad as refugees, 2,000 others were later executed, including Imre Nagy, once Kadar had been restored to power in Hungary.

Tasks

1.
What changes were introduced by Imre Nagy in order to meet the demands of the Hungarian people?

2.
Imre Nagy made a number of appeals to the West for help and support, when the Russians began to suppress the Hungarian Revolution, but no help was given. Why did the West not help Hungary?

The aftermath

Hungary returned to its previous position as a loyal satellite state. Janos Kadar was confirmed in power by the USSR – all the trappings of the totalitarian system were restored.

· The Communist Party was the only legal political party.

· Strict control and censorship was restored.

· The secret police were re-established.

· There were widespread arrests of the revolutionary leaders – Nagy and others were executed.

The Soviet suppression of the Hungarian uprising was ruthless and extremely violent. Why did the Russians react in this way? In particular, why did Nikita Khrushchev, now established as effective leader of the USSR, order such action?

1.
The unrest in Eastern Europe was weakening Khrushchev’s precarious grip on power. He was already under pressure from hard-line Soviet Stalinists for denouncing Stalin in the ‘Secret Speech’. His enemies pointed to events in East Germany, and Poland, and linked them to his internal policies. The Hungarians had pushed him too far – he had to take action to assert his authority, or face the possible challenges within the USSR.

2.
The USSR regarded Eastern Europe as its own particular sphere of interest – it was the dominant power. Where a satellite state sought more control over its internal affairs, as Poland had done, then, concessions might be granted … so long as the position of the Communist Party was assured, and subservience to Moscow guaranteed.

However, the Hungarians had gone much further. The Communist Party’s power was crumbling – there were signs of a return to a multi-party system. Nagy had announced Hungary’s withdrawal from the Warsaw Pact. Other satellite states might decide to take a lead from Hungary.

This was quite unacceptable … so events took their bloody course.

Ideology?

The Russians certainly claimed an ideological basis for their actions. They claimed that the socialist structure of Hungary, with power in the hands of the working class, through the Communist Party, was being challenged – by middle-class reactionary elements. The rebel movement in Hungary was, according to Soviet propaganda, a capitalist movement attempting to crush the Hungarian workers. Among the rebels were many extremists and fascists – who were being paid by the West, particularly the USA, to destroy socialism.

The USSR had a clear duty to intervene on behalf of the Hungarian working class. Indeed, to their credit, loyal Hungarian socialists had seen the terrible dangers they were facing: they had asked their Soviet ally for help – and the USSR had responded.

So, the Soviet line was clear: they did not ‘invade’ Hungary at all – they came to rescue Hungarian workers from the evil clutches of capitalism.

This was the case put by the USSR at the time, and since.

Reality?

The Hungarian uprising of 1956 was a spontaneous national movement by the Hungarian people, from all classes, against the unpopular communist regime that had been imposed on them in 1947. The regime was disliked and hated. By 1956, its weaknesses were obvious – the Hungarians seized their chance when it came. They wanted their country back!

Soviet talk of intervention on behalf of Hungarian workers being threatened by capitalism was basically nonsense. Hungarians of all classes supported Nagy, and his reforms – thousands of Hungarian workers fought bravely 
against the Red Army, and many of them died beneath Russian tanks. The Hungarians were fighting for their national freedom – and, for this, they were crushed.

The Soviet action had nothing to do with ideology, or the working class. The Hungarians had overstepped the mark: by challenging Communist Party dominance, and by attempting to leave the Soviet bloc. 

Of course, there was a very definite ideological issue in Hungary in 1956 – the Hungarian people had demonstrated overwhelming support for the ideals of democracy. The USSR could not tolerate this, under any circumstances, so Hungary paid for its error – in full.
Tasks

1.
Why was the USSR so determined to suppress the Hungarian Revolution?

2.
In what ways did the USSR attempt to claim an ideological basis for its actions? In your opinion, how much justification did it have for this claim?

Source exercise: worked example

These sources all date from the time of the Hungarian Uprising in 1956.

Study the sources carefully and answer the questions that follow.

Source 1

From a list of demands compiled from students at Budapest Technological University, 23 October 1956

‘We demand the immediate evacuation of all Soviet troops, in conformity with the provisions of the Treaty of Peace.

We demand the election by secret ballot of all Party members from top to bottom, and new officials at all levels of the Hungarian Workers’ Party (Communist Party).

A new Government must be established under the direction of Comrade Imre Nagy. All the criminal leaders of the Stalin–Rakosi era must be immediately relieved of their duties.

We demand that general elections, by universal secret ballot, be held throughout the country to elect a new National Assembly, with all parties participating. We demand that the right of the workers to strike be recognised.

We demand complete recognition of freedom of expression, of freedom of the press and radio.’

How useful is Source 1 as evidence of the pressure for reform in Hungary at the time?

Once more, you have to look thoroughly and carefully at the question. You should also be thinking of the prompts given in source evaluation questions like this one – about the origin, possible purpose, and content of the source.

In this question, then, think about evidence of the pressure or drive for reforms in Hungary in 1956. Think about the following questions. What forces were pushing Hungary towards reform? Which groups or individuals were urging reform? What did they dislike about the situation inside Hungary at the time?

What points from the source can you find? Write them down in the space below.

Think about points of information from recall, not in the source, but which you think are relevant to the question. Write them down too.

Exchange pages with a colleague or partner. Check each other’s work – have you missed anything?

Finally, go to the reference section at the end of the booklet, and check what you have written against the points listed there.

Source………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

Recall….……………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

Source 2

From a radio broadcast by station Free Radio Csokonay, making an appeal to the United Nations, 4 November 1956

‘We speak to you in the name of the entire Hungarian people. Soviet troops are attacking our country for the second time in two weeks. They have turned our country into a battle-ground without regard for our people and our national values.

The first time, they interfered in our domestic affairs at the request of a government hated by the people. The Hungarian people energetically repulsed this attempt, with arms in their hands. By fighting, we made it possible for Imre Nagy to become Prime Minister. He proclaimed the supreme wish of the Hungarian people for neutrality and independence. The entire Hungarian people joined Imre Nagy and they are still behind him … Our government has cancelled the Warsaw Pact and has ordered negotiations for the withdrawal of Soviet troops.
We accuse the Soviet Union of armed aggression against Hungary. Our country is falling under the cruel fire of Soviet tanks and bombers.’

Source 3

From an order issued by Marshall Koniev, Commander in Chief, Soviet United Armed Forces, 4 November 1956

‘At the end of October, an uprising was started by counter-revolutionary forces in Hungary in order to destroy the people’s democratic system … and restore the old capitalist system … Events showed that fascist elements were participating in this military adventure, and were a direct threat to our country and the whole socialist camp.

At the request of the Hungarian People’s Republic, and on the basis of the Warsaw Pact established between members of the socialist camp … the Soviet troops have started carrying out their allied obligations … The duty of the Soviet troops is to extend fraternal aid to the Hungarian people in preserving their socialist achievements.’

How fully does Source 3 explain the reasons for the Soviet action in Hungary?

Compare the views expressed in Sources 2 and 3 on the situation in Hungary at the time.

Here, we have the two other types of source questions, which you will meet in Paper II. Let’s look at the first question, which asks you to look at Source 3.

In this type of question, you are being asked to answer the question in such a way that you place the source in its context. You need to think about the background to the events in Hungary, and the action by the USSR.

First of all, look at the source. Marshall Koniev is giving the Soviet justification for the action. Underline those parts of the source that you think will help you to answer the question, and then write them down in the space below.

Think about recalled knowledge – things not mentioned in the source, but which you think help to explain why the Soviet Union took action in Hungary. Write them down too, in the space below.

Source………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

Recall….……………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

Check your answers with a partner or colleague. Now turn to the reference sheets at the end of the booklet, and check your answers.

3.
Compare the views expressed in Sources 2 and 3 on the situation in Hungary at the time.

This is a source comparison question, the third and final type of question which you will meet in the exam. You do not need to use any recalled knowledge in this type of question – just use the information in the sources.

Key point: For this type of question you must make a point-by-point comparison. As you identify a point being made in one source, try to find a point in the other source to compare it with. 

Remember: The sources will have been selected for the specific purpose of a comparison question – there will be points to compare!

Stage 1: It is a good idea to make an overall comparison of the sources before moving on to look at their details. For example, you may decide that the sources disagree pretty strongly, or take widely differing views. If you are able to make an overall comparison, then write it in the space below.

Stage 2: Now look at the sources in more detail, and what they say about the situation in Hungary at the time. Go through each source carefully, and underline the points that you think will help you to answer the question – the points which explain the situation in Hungary at the time. 

As you identify each point from Source 2, try to find a point from Source 3 to compare it with – write the points from the sources in the space below. This is your detailed comparison: you should pick up good marks here.

Overall comparison………………………………………………………….…...
………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

Detailed comparison……………………………………………………………...
………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

………………………………………………………………………………………

Check your answer with a partner. Now turn to the reference sheets at the end of the booklet and check your answer against the answer given there.
Section 7: The Berlin Crisis, 1961

In 1961, the attention of the world became concentrated on the city of Berlin, with the construction of what became the most famous and most notorious symbol of the divisions which configured the Cold War – the Berlin Wall.

The background: the two Germanys

Following the Airlift crisis of 1948, it became obvious that there was virtually no chance of reuniting Germany in the foreseeable future. Accordingly, in March 1949, the Western allies agreed to unite their occupation zones and create the Federal Republic of Germany, often known as West Germany. In October 1949, the USSR created a separate state from its occupation zone – the German Democratic Republic, or East Germany.

In the 1950s, the two German states developed on very different lines.

East Germany
East Germany became a typical Soviet satellite state. It was strictly communist – with party and government leaders selected and approved by Moscow. There was strict censorship and control of the media – democratic freedoms did not exist. There was a powerful secret police force to enforce obedience and loyalty to the state. The East German economy was run on Soviet lines, with state controls of industry, and collectivisation of farming. The main economic emphasis was on heavy industry. Housing and consumer goods were usually of poor quality, and wage levels were low.

West Germany
West Germany rapidly developed as a successful and thriving democracy. In the 1950s, the country speedily recovered from the ravages of the war, and a major economic boom developed. Standards of living rose, as did wages. There was continuing expansion and economic growth in heavy industry, consumer goods and housing. West Germany gained a reputation for quality products, for example through car firms such as Mercedes Benz and BMW.

The movement to the West

During the 1950s, it was obvious to everyone that, in all respects, West Germany was increasingly more prosperous than its communist counterpart. Wages were far higher – there was a huge range of consumer goods, such as radios, televisions and cars. Good quality housing was widely available.

West Germans enjoyed democratic freedoms: all adults had the right to vote for a range of parties; there was freedom of speech and expression.

East Germans looked westwards and wondered why should they stay in the East – for loyalty to communism? Why not simply move to West Germany? Conditions in the West were far better, and it was not as if they would be foreigners. There would be no language problem if they moved there – they would be made welcome! (West Germany was starting to face shortages of workers, particularly skilled workers.)

The East German land frontier with the west was almost impassable: barbed wire, electrified fences, guard towers, etc. Crossing the border would be very difficult and downright dangerous.

However, in the city of Berlin, the border was open, and crossing was relatively easy. In fact, many East Berliners had jobs in West Berlin. If an East German man or woman wanted to move to West Germany, the simplest was to go to East Berlin. There, they caught the bus, train, or U-bahn (the underground railway) and travelled to West Berlin.

Once there, they could fly out to West Germany and a new life.

Between 1950 and 1961, over 3 million East Germans moved to the west, through West Berlin.

For the communist government of East Germany, and for the USSR, this was a disaster – people simply preferred capitalism to communism and, as was pointed out by Willi Brandt, the mayor of West Berlin, they were ‘voting with their feet’.

Even worse, large numbers of these people were younger, skilled workers, which East Germany could not afford to lose: engineers, teachers, construction workers, scientists, etc.

There was a growing risk that East Germany would simply collapse, as its best workers decided to leave.

It became increasingly clear that this situation could not be allowed to continue. In 1960, top level discussions began between Ulbricht, the East German communist leader, and Nikita Khrushchev. In the USA, President Kennedy became alarmed at what the USSR might do. Khrushchev had already talked about signing a new treaty with East Germany, which would have the effect of letting the East German government control all the access points to West Berlin. The USA had never recognised East Germany, and this action would trigger a crisis.

Even more serious was the threat of possible hostile action by the USSR. Clearly, Khrushchev could not allow this situation to continue, with the possible collapse of East Germany. Kennedy’s fear was that the Russians might try to solve the problem by invading West Berlin. This would amount to an act of aggression against West Germany, a NATO member. This meant that there was a real risk of war between the Superpowers over Berlin.

Tasks

1.
Make up a table comparing life in West Germany and East Germany. Use the following headings for your table.



Economic standards 



Political rights 



Freedoms

2.
‘Voting with their feet.’ Explain why the population movement from East to West Germany was such a serious problem for East Germany.

The Berlin Wall, 13 August 1961

With no warning, the government of East Germany took action to close the frontier in Berlin. In the early hours of the morning, soldiers and police sealed the border with barbed wire. Crowds of furious West Berliners gathered at some of the main crossing points to protest and demonstrate at the action, but there was nothing that could be done. The barriers were being erected on the East German side – and there the East German government was in charge.

A few days later, on 17 August, a more substantial wall of concrete blocks began to be built, reinforced by guard towers with armed police and troops. In a short time, Berlin became a completely divided city, with the Wall cutting straight across it. Streets were closed – tram lines came to an abrupt halt where the Wall had been built. Any person trying to escape across it risked being shot.

Reactions

West Germany

Not surprisingly, the government and people of the Federal Government were furious. The Berlin Wall was a brutal reminder of their situation as a divided country. It was also a reminder of the fact that, in face of Soviet power, they were powerless. There were angry speeches in the Bundestag, the West German Parliament, and huge demonstrations by West Berliners on their side of the Wall. However, apart from that, there was very little that could actually be done.

The United States

Although the American government was appalled at the construction of the Wall, there was also a sense of relief – nothing worse had happened, such as a Soviet invasion of West Berlin. President Kennedy recognised that the USSR and East Germany had solved the problem of the population loss. Their actions were certainly crude and brutal, but they had refrained from action against West Berlin, and the Americans accepted this with relief. The USA sent letters of protest to Moscow, and ordered military reinforcements to be sent to West Berlin – Kennedy also sent his vice-president, Lyndon Johnson, to show solidarity with the West Berliners, but that was as far as American actions went.

In 1963, Kennedy visited West Berlin and, in his famous ‘Ich bin ein Berliner’ speech, declared his pride in standing alongside the people of the city.

East Germany

For the German Democratic Republic, the Berlin Wall solved the problem of its population loss. The drain of skilled workers came to an end and, to an extent, the standards of living in East Germany began to rise.

The justification for the Wall

In a number of speeches and texts, Ulbricht and Khrushchev both gave clear justification for their action. The reasons given were interesting:

· The Wall was built to protect East Germany and the socialist states of Eastern Europe from attack. It was claimed that West Germany was planning revenge attacks, and that some of the commanders of the West German army were former supporters of Hitler.

· Many Western spies and secret agents were using West Berlin as an easy access point to Eastern Europe to carry out their activities. Again, East Germany needed to be protected from this.

· Acts of sabotage were being carried out in East Germany by saboteurs crossing from the West through Berlin. Clearly, East Germany needed to guard against this. Interestingly, this claim may have been linked to the dire state of economic progress in East Germany.

· ‘White Slavery’: young East German girls were being enticed into prostitution by the dregs of West German capitalist life – these innocent young women had to be protected from this.

All of these, and other reasons, were repeated regularly by the East, as justification for the construction of the Berlin Wall. The reason for the action was overwhelmingly clear, they claimed – it was to protect East Germany.

No reference was ever made, by the communists, to the huge drain of population to the West. Moreover, they never released any figures showing how many West Germans were crossing to the East.

Why did NATO not take action?

Many West Germans asked this question – surely NATO, with its immense military power, should have been able to do something? 

NATO could do nothing. To have used force, to have physically demolished the Wall, would have risked war with the USSR – possibly World War III – NUCLEAR war! This, of course, was the one development that, throughout the Cold War, the leaders of the Superpowers were always determined to avoid. Kennedy knew this, and so did Khrushchev. 

In a strange, twisted and horrible way, Khrushchev’s action in authorising the building of the Wall even made sense. The Russians had a problem – one of their satellite states was in trouble – they would have to try and solve this problem, without starting World War III. Kennedy understood this fully, and feared that it would be impossible for them to achieve this outcome, and that 
war might follow. The construction of the Wall solved the problem for the East – there would not be a war, to the immense relief of both sides.

NATO’s position was also fairly clear. NATO was above all a defensive alliance. It took effect if a NATO member was attacked … if force was used against a NATO state – if it was invaded.

No NATO member had been attacked … the Wall was on the Eastern side of the frontier – sometimes by only a couple of feet, but it was in East German territory. Consequently, there was no aggression for NATO to respond to.

Tasks

1.
Outline, in your own words, how the Western powers responded to the construction of the Berlin Wall.

2.
Explain how East Germany justified the construction of the Wall.

3.
In your opinion, how serious was the risk of war between the Superpowers over the Berlin Crisis of 1961?

The winner of the exchange?

So, which side had come out of the crisis as the winner? Clearly, the Russians and the East Germans could claim a victory. The Wall had been built, the borders with West Berlin had been closed, East Germany had been ‘saved’.

The United States and NATO had been powerless to stop them. 

The communist bloc had achieved success – but, perhaps not a victory about which it would wish to boast.

Berlin was now a totally divided city, divided physically by the Wall. Families, friends, relations, communities were split apart by it. Attempts were still sometimes made to cross to the West – some of these attempts ended tragically, with the deaths of the would-be escapees at the hands of the East German guards.

The Berlin Wall lasted until the Cold War itself came to an end. Ugly, crude, and brutal, covered with graffiti on the Western side, it remained probably the most powerful symbol, in Europe at least, of the immense gulf between 
the two rival ways of life, communism and capitalism. Perhaps the final comment can be left to President John F Kennedy, on his visit to West Berlin in 1963. He stated then that, if there were any who did not truly comprehend the differences between the two rival ways of life, then … ‘Let them come to Berlin’

Source exercise

Source 1

From a Decree by the East German Council of Ministers, 12 August 1961 (printed in the New York Times 14 August 1961)

‘The interests of preserving peace demand that an end be put to the machinations of the West German revanchists (revenge seekers) and militarists …

The Adenauer government is systematically carrying out, with regard to the German Democratic Republic, preparations for a civil war.

The citizens of the GDR … are being increasingly subjected to terroristic persecution.

West German espionage organisations are systematically luring citizens of the GDR and organising regular slave traffic …

The West German revanchists and militarists are attempting to damage not only the GDR but also other states of the socialist camp by means of hostile propaganda and by sabotage …

To put an end to the hostile activities of the revanchists and militarist forces of West Germany and West Berlin, controls are to be introduced on the borders of the GDR, including Berlin … to block the way to these subversive activities.’

How fully does Source 1 explain East German and Soviet concerns about the situation in Berlin in 1961?

Reminder: You are being asked to place the source in its wider context.

Source 2

From an address by Willy Brandt, the Mayor of West Berlin, to the Berlin Parliament, 13 August 1961

‘The measures decreed and introduced by the Ulbricht regime at the invitation of the Warsaw Pact States, for sealing off the Soviet Zone and the Soviet Sector from West Berlin are a scandalous injustice. They mean that not only a sort of State boundary but the outer wall of a concentration camp is drawn right across Berlin.

With the approval of the Eastern Bloc States, the Ulbricht regime is making the Berlin situation much worse, and is overriding yet again legal obligations and the needs of humanity.

The Berlin Parliament protests in the face of the world against the illegal and inhuman measures taken by the partitioners of Germany, the oppressors of East Berlin, and the menacers of West Berlin.’

Compare the views expressed in Sources 1 and 2 on the construction of the Berlin Wall.

Reminder: Try to make an overall comparison, and then a point-by-point comparison.

Source 3

From the speech given by President John F Kennedy in West Berlin, 26 June 1963

‘I am proud to come to this city as the guest of your distinguished Mayor who has symbolised through the world the fighting spirit of West Berlin …

There are many people in the world who really don’t understand … what is the great issue between the free world and the Communist world. Let them come to Berlin …

There are some who say ‘We can work with the Communists’. Let them come to Berlin …

While the Wall is the most obvious and vivid demonstration of the failure of the Communist system, all the world can see that we take no satisfaction in it, for it is … an offence not only against history, but an offence against humanity, separating families, dividing husbands and wives and brothers and sisters, and dividing a people who wish to be joined together …

All free men, wherever they may live, are citizens of Berlin. And therefore, as a free man, I take pride in the words ‘Ich bin ein Berliner.’’

To what extent does President Kennedy in Source 3 explain US attitudes towards the Berlin Crisis?

Reminder: Here you are being asked to place a source in its wider context.

Section 8: The Cuban Missiles Crisis, 1962

‘13 days that shook the world’

The Cuban Missile Crisis lasted from 16 to 28 October 1962. 

It was the closest that the world ever came to nuclear war between the USSR and the USA.

Background

Cuba is a medium-sized island in the Caribbean – it is 90 miles from Florida.

For many years, Cuba had been ruled by a military dictatorship led by General Fulgencio Batista.

Batista’s government was highly corrupt and inefficient – opposition movements were suppressed ruthlessly.

The majority of Cubans lived in poverty, with low standards of living, and poor education and health services. Batista and his supporters lived in great wealth and luxury.

American business had invested heavily in Cuba, particularly in sugar cultivation. Organised crime in the USA, the Mafia, had powerful influence in Cuba, and influence over members of Batista’s government.

Fidel Castro

Fidel Castro was a lawyer who became actively involved in opposition to the Batista regime. In 1953, he made an unsuccessful attempt to seize power, and was arrested and imprisoned – and later expelled from Cuba. 

In the later 1950s, Castro returned to Cuba, and this time began to build up support among the poor peasant farmers. Castro was a skilled and intelligent political leader and, gradually, he began to achieve success. By 1959, Castro 
had built up powerful guerrilla forces, and was driving back Batista’s army. In January 1959, Castro’s forces entered Havana, the capital of Cuba – Batista fled.

Castro in power

Castro began a major programme of reforms in Cuba, aiming to redistribute the country’s wealth more fairly, and to improve standards of health and education. Schools and hospitals were built, and living standards improved for ordinary Cubans.

He also ordered a major distribution of land to the peasant farmers. This involved seizing the large sugar plantations owned by US business interests.

This led to a serious deterioration in relations with the United States, which began to denounce Castro as a communist. In 1961, Cuba and the USA ended diplomatic relations. The USA also refused to buy the Cuban sugar crop, causing big economic problems for Castro, who desperately needed funds to support his social reforms.

The Bay of Pigs Crisis

When he became president in January 1961, John F Kennedy was informed of a plot to overthrow Castro. This had been organised by the US Central Intelligence Agency, with the collaboration of a group of Cuban exiles opposed to Castro. These exiles had received military training and weapons from the USA. Kennedy was assured that Castro was deeply unpopular and hated by the Cuban people, and would easily be toppled from power.

In April 1961, the Cuban exiles staged their invasion at the Bay of Pigs, on the west coast of Cuba. The scheme was a disastrous failure. Castro’s forces easily defeated the invaders and it became clear that his government had the support of the Cuban people. 

Effects of the Bay of Pigs

This was a major embarrassment for the USA and for President Kennedy. An attempt had been made to interfere in the affairs of a neighbouring country – and it had failed disastrously. Kennedy was strongly criticised by his political opponents inside the USA. In Russia, Khrushchev began to regard Kennedy as a weak and ineffectual leader, who followed bad advice.

In Cuba, the USA was now regarded as a major threat. Castro was genuinely concerned at the possibility of further American attempts to remove him, and 
began to look for support elsewhere. He soon found out that the USSR was very willing to help him. 

The Russians agreed to supply aid, and to buy the Cuban sugar crop. Russian advisers, technicians, and engineers were sent to Cuba, and were warmly received.

In effect, the Americans had driven Castro towards the Russians.

In July 1962, Castro visited Moscow to increase links with the USSR, and to negotiate defence agreements in case of further hostile action by the USA. A Russian military base was established in Cuba, with Castro’s full and enthusiastic agreement.

Tasks

1.
Why did Fidel Castro succeed in gaining power in Cuba in 1959?

2.
Explain why relations deteriorated so badly between Cuba and the United States in the period from 1959 to 1961.

3.
Imagine that you are an agent for the CIA, who has just returned from an undercover mission to Cuba, following the Pay of Pigs incident. Prepare a memo to President Kennedy, informing him why the Bay of Pigs incident is likely to cause serious problems for the USA in its relations with Cuba.
The missiles

In 1962, the USSR had fallen well behind the USA in the nuclear arms race. In the most powerful missiles, the Intercontinental Ballistic Missiles (ICBMs), the USA had a clear lead. The Russians had more Medium-Range Ballistic Missiles (MRBMs) but, based in Russia, they could not reach the USA. This concerned Khrushchev greatly as he knew that it would be some time before the USSR would be able to draw level with the USA in terms of the longer-range ICBMs.

Khrushchev developed the idea of placing a number of MRBMs in Cuba where they would be in range of the USA. He did not foresee any adverse reaction from the USA – the Americans had already stationed nuclear weapons in a number of foreign countries.

This would allow the USSR to draw level with the USA in the nuclear arms race, and would also strengthen Khrushchev’s position inside Russia. Castro agreed to the Russians’ plans and construction of the missile base began in the summer of 1962.
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The American reaction

For some time, the USA had been running reconnaissance flights over Cuba with U-2 spy planes. On 16 October, one of these missions, over the San Cristobal area, identified the missile base under construction. At the same time, it was discovered that a number of Russian merchant ships were on their way to Cuba with the missiles on board

President Kennedy had now to make some very serious decisions. His advisers presented him with a number of options. 

1.
Do nothing – after all, the USA had nuclear missiles in NATO countries quite close to the USSR, and the Russians had not protested. 


This was not an option for Kennedy, for political reasons. He had already suffered a number of setbacks in relations with the USSR: the Berlin Wall, and the Bay of Pigs. There were important Congressional 

elections due in November, and Kennedy’s opponents would exploit any perceived weakness. Kennedy urgently needed to demonstrate some success in American foreign policy.

2.
Launch an air attack on the missile base, and destroy it – the so-called ‘surgical strike’. This would mean an attack on Russian armed forces, and would certainly lead to a Soviet response. A possible Soviet response to this might involve action against West Berlin.

3.
Invade Cuba – a full scale invasion by US land, sea, and air forces – to topple Castro and establish US authority. This would be an act of war. As Cuba was a Russian ally, there was a clear risk of nuclear war if this course of action was taken.

4.
Blockade Cuba – the US navy would surround the island and prevent the Russians bringing the missiles to Cuba. At this time, Russian ships were at sea, and, very clearly, were carrying missiles on their decks. A blockade was serious action: if the Russians tried to get past the blockade, then American warships would have to stop them – a clear risk of war again. However, the declaration of a blockade would give a very clear signal to the Russians that the USA was serious. In addition, time would elapse before US forces would have to take action, and this would increase the chances for negotiations and a diplomatic solution to the crisis.

Kennedy opted for the blockade.
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Tasks
1.
By establishing the Soviet missile base in Cuba, what was Khrushchev attempting to achieve?

2.
Make up a table showing the options considered by President Kennedy. Make up the arguments for and against each option.

3.
Explain why Kennedy decided on the Blockade.
The crisis develops

On 22 October, Kennedy appeared on US television to announce the American action.

He told the American people that the Russians had set up an offensive missile base on Cuba, and that the USA was setting up a blockade line. The situation had now become extremely serious, and the entire world now waited to see how things would work out. At some point, Russian ships would approach the US blockade line … and then?

Inside the USA, a major build-up of US forces was under way. B-52 bombers were put onto Red Alert: ICBM missiles were prepared for launching; US paratroopers were moved to Florida, in preparation for a possible invasion of Cuba.

24 October: The first Soviet ship approached the US blockade line, and came to a halt. The Russians did not want the crisis to get any worse. A Russian tanker was stopped and boarded by US sailors….and was allowed to proceed because it was only carrying fuel oil. Other Russian ships were shadowed by American warships and planes. There was now a real risk of an incident, where a US ship or plane fired on one of the Russian ship … and possibly triggered World War III.

25 October: Kennedy received an angry letter from Khrushchev, accusing the USA of piracy, and reckless aggression. The USA responded by publishing photographs of the missile sites.

26 October: Kennedy now ordered US flights over Cuba – leaflets were dropped explaining the US position.

Flashpoint: 27 October 1962

It was on this date that the world came closest to nuclear war between the USA and the USSR.

Late on the previous day, a message had been received from Khrushchev. The Russians stated that they were willing to remove the missiles from Cuba in exchange for a promise by the USA not to invade. This seemed to suggest a readiness by the Russians to negotiate, to do a deal.

Some hours later, a second message was received. This was much less conciliatory, stating that the missiles would only be removed if the USA removed missiles from Turkey, which the Russians regarded as a threat. The USA was now uncertain as to what the Soviet position actually was.

Then a report came in stating that an American plane had been shot down over Cuba, and the pilot killed – technically, this could be seen as the start of hostilities, since the missile had been fired by Russian personnel.

Finally, there was a new crisis, this time in the Arctic. A second American plane had accidentally strayed into Soviet air space. It was a simple navigation error but, at this time, could have been fatally misinterpreted by the Russians as an attack by US bombers.

In the White House, Kennedy’s staff wondered if they would still be alive the following day.

Resolution – the crisis comes to an end

Robert Kennedy, the President’s brother, took the key initiative. He suggested that the Americans should ignore the second, more hostile message, and reply to the original one – removal of the missiles in exchange for a US guarantee not to invade.

The American response was well received by the Russians, who were frantically looking for a way out of this terrifying crisis, just like the Americans!

The Russians responded quickly and accepted the US proposals. At a secret meeting between Robert Kennedy and Anatoly Dobyrinin, the Soviet ambassador, the USA agreed that, once the Soviet missiles had gone from Cuba, the USA would remove its Jupiter missiles from their bases in Turkey (these missiles were actually obsolete). The Cuban Missiles Crisis was over.

Khrushchev could claim some success: Cuba was safe from invasion – this allowed the Russians to save face. Kennedy could claim a major victory: he had faced up to a major threat to the security of the USA, and the Russians had backed down. By the end of the year, the missiles had been removed from Cuba, and the base abandoned.

Tasks

1.
Make up a diary showing the main events of the Missiles Crisis, and when they took place.

2.
Explain how, between them, the Americans and the Russians managed to resolve the Cuban Missiles Crisis.

Analysis

In terms of winners and losers, the outcome was clear victory for the USA – the USSR had backed down, and removed the missiles. Kennedy was regarded as an outstanding US President, and became very popular in the country.

The USA had won… but had taken the world to the edge of disaster in order to achieve success.

We now know that things were actually more serious than was realised at the time. As the crisis developed, there were already substantial Russian forces on Cuba. Among their weapons were a number of tactical nuclear weapons, designed for use on battlefields. If the USA had carried out its invasion of Cuba, it is more than likely that these weapons would have been used against US forces. We can only guess what the outcome of such a conflict would have been.

In October 1962, the world was closer to disaster than anyone at the time realised. The Americans and the Russians were in a face-to-face confrontation with a very real chance of war between them. Mistakes, which could have led to disaster, were made by both sides: the shooting-down of the American plane over Cuba (not authorised by Khrushchev); and the American plane accidentally entering Soviet airspace (the Russians could have assumed that it was an American bomber making an attack).

There were serious difficulties with communications between the two sides, as there was no direct contact between Kennedy and Khrushchev. 
Communication had frequently to work through each side’s ambassadors, and this, inevitably, took time – something that neither side could afford to waste. 

The Superpowers had given each other, and the entire world, a serious fright. The Cuban Missiles Crisis is in the history books as the time when World War III, the unthinkable, nearly happened. Both the USA and the USSR learned serious lessons. In the years that followed, they began to look for ways of avoiding situations like this, and of heading off crises before they became really serious and world-threatening.

Tasks

1.
‘On the Edge.’ Here, your task is to prove that you have understood how serious the Cuban Missiles Crisis. Create a revision guide to help you remember the main details of what happened, setting out clearly how the Crisis nearly led to World War III.

Source exercises

Source 1

From Memories, by Andrei Gromyko, 1989. Gromyko was Foreign Minister of the USSR for many years.

‘US foreign policy led to a new upsurge of tension, with Cuba as the centre. Even after the defeat of American mercenaries at the Bay of Pigs, Washington had not changed its course. Instead, on the pretext that Cuba was being turned into a ‘base for communist penetration’, a loud propaganda campaign about the ‘Soviet threat’ was launched.

On 4 September 1962, President Kennedy made a statement in which he cast doubt on the legitimacy of measures being taken by the Cuban government to secure the defence of its own country. The statement contained direct threats to Cuba if she did not back down. On 11 September, the Soviet government called on the USA ‘not to lose its self-control and soberly to assess where its actions could lead’.

The preparations for imperialist intervention continued, however, and therefore the Soviet and Cuban governments reached agreement on the further reinforcement of Cuba’s defences. The appropriate arms were installed, including rockets. This was purely a defensive measure.’

To what extent does Source 1 explain the reasons for the establishment by the USSR of the missile base in Cuba?

Reminder: You are being asked to place the source in its wider context.

Source 2

From President Kennedy’s speech on television, 22 October 1962

‘This government has maintained the closest surveillance of the Soviet military build-up on the island of Cuba. Within the past week, unmistakeable evidence has established that a series of offensive missile sites is now in preparation on that imprisoned island. The purpose of these bases can be none other than to provide a nuclear strike capability against the Western hemisphere …

Several of these new missile sites include medium-range ballistic missiles capable of carrying a nuclear warhead for a distance of more than 1,000 miles. Each of these missiles is capable of striking Washington DC, the Panama Canal, Cape Canaveral, Mexico City, or any other city in the south-eastern part of the United States, in Central America, or in the Caribbean area…

This urgent transformation of Cuba into an important strategic base … constitutes an explicit threat to the peace and security of all the Americas …

This secret, swift and extraordinary build-up of Communist missiles, for the first time outside of Soviet soil, is a deliberately provocative and unjustifiable change in the status quo which cannot be accepted by this country …’

How useful is Source 2 as evidence of American hostility to the establishment of the Soviet missile base in Cuba?

Reminder: You are being asked to evaluate the source – think about origin, possible purpose, content, and then support this with recalled knowledge.

Source 3

From the Daily Mail, the British newspaper, 29 October 1962

‘OK Mr President, let’s talk!’
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How fully does Source 3 illustrate the concerns at the confrontation between the USA and the USSR during the Cuban Missiles Crisis?

Reminder: Place the source in its wider context.

Source 4

From In Search of Détente – the Politics of East West Relations since 1945, S R Ashton, 1989.

‘The key issue was Khrushchev’s motives. In his memoirs, Khrushchev claimed that the missiles were necessary to defend Cuba against another American-backed invasion. His reasoning was hardy convincing – 20,000 troops armed with conventional weapons would have sufficed for this purpose …

The missiles were intended by Khrushchev to kill several birds with one stone …

The United States strategic superiority would be neutralised at a stroke …

The USSR would be spared an expensive intercontinental missile programme. He would be in a position to bargain over Berlin, or over the American missile bases in Turkey. Finally, in personal terms, Khrushchev’s prestige would be increased enormously.’

How far do you accept the opinions given in Source 4 for Khrushchev’s motives for establishing the Soviet missile base in Cuba?

Reminder: Place the source in its wider context.

Section 9: The war in Vietnam

‘And it’s one, two, three, what are we fighting for?

Don’t ask me, I don’t give a damn, the next stop is Vietnam!

And it’s five, six, seven, open up the Pearly Gates!

There ain’t no time to wonder why

Whoopee! We’re all gonna die!’

American pop song, late 1960s

The decision by the United States to intervene actively in the war in Vietnam was highly controversial. It was the longest war ever fought by the USA, it involved the commitment of immense resources both human and material, and, as the song quoted above illustrates, it divided and split the country as never before. Finally, the Vietnam War can be regarded as the only war in which the United States has failed to achieve victory.

Background
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The origins of the Vietnam conflict were deep-rooted, in the resistance to the colonial Empire established by France in the 19th century. Vietnam was part of the French colony of Indo-China.

In 1940, France was defeated by Germany. Indo-China became part of Japan’s sphere of influence, with military bases being established there. Later on, the Japanese took formal control of the French colonies.

Opposition to Japanese control soon developed with the growth of the Vietminh movement, a nationalist movement led by Ho Chi Minh, who had been educated in France. The Vietminh resisted the Japanese, and worked and fought for the independence of Indo-China from foreign rule: they received military support from the USA.

In 1945, Japan surrendered, and their forces left Indo-China. Ho Chi Minh proclaimed independence. France had other ideas – it planned to re-establish the colonial empire it had lost in 1940.

The French war

The war between the French and the Vietminh lasted eight years, from 1946 to 1954. The French forces were unable to counter the guerrilla tactics of the Vietminh, who staged ambushes, and avoided major battles. The French retained control of the towns and cities, but lost control of the countryside.

In 1954, the French army attempted one final offensive against the Vietminh. This ended in disastrous defeat at Dien Pien Phu, when a large French force had to surrender. 

Peace negotiations then began.

The peace agreement of 1954

· France agreed to leave Indo-China.

· Four new countries were created: Cambodia, Laos, North Vietnam and South Vietnam.

· Elections would be held in the two Vietnams to see if the country could be unified.

The two Vietnams

North Vietnam became a Communist state, under the leadership of Ho Chi Minh. Major land reforms were carried out, and health and education reforms introduced. No other parties were permitted to exist, the media were controlled and censored, and opposition to the government was suppressed. 

However, North Vietnam was very much an independent communist state, running its own affairs and making its own decisions. In no way was it any kind of satellite state of either Russia or China.

South Vietnam became a republic under the leadership of Ngo Dinh Diem, a strong anti-communist. His government took on widespread powers to crush opposition, cancelling elections that had been arranged for 1956. Diem’s government began to receive extensive financial support from the United States, who saw him as a useful ally against the spread of Communism in Asia.

Opposition to Diem’s government soon developed, particularly from Buddhists, who regarded Diem as a dictator. It was difficult to argue that South Vietnam was a genuine democracy.

War again

In the late 1950s, opposition to the government of President Diem increased steadily. Government officials were murdered, his troops were attacked, and wealthy landowners were killed. Diem’s forces responded with equal violence. In effect, a civil war was now taking place in Vietnam. And, like all civil wars, it was cruel and brutal, and increasingly bitter.

In 1960, a new organisation was formed to unite the opposition to Diem, with the formation of the National Liberation Front (NLF), which was heavily backed by North Vietnam. Although the NLF was officially an alliance of a number of groups, it was heavily dominated and controlled by communists. The NLF was also given another, and more familiar, name – the Viet Cong.

A row of dominoes?

‘You have a row of dominoes set up. You knock the first one, and what will happen to the last one is a certainty, that it will go over very quickly.’

President Eisenhower, 1954

In the 1950s, the USA became increasingly concerned about the spread of Communism in South East Asia. It was convinced that the Russians and Chinese were actively trying to extend their power by overthrowing non-Communist governments in countries like South Vietnam, Laos, Cambodia, Thailand and Burma. Many leading US government figures believed that the USA should actively support these countries, to prevent this from happening: ‘to prop up the dominoes’. If the USA did not act, then, inevitably, communism would spread. If this view was accepted, the United States, as the leader of the Free World, had no alternative but to intervene to support South Vietnam. This became known as the Domino Theory, and was the main justification for the events that followed.

The reality was a bit more complex. There certainly were active Communist guerrilla movements in South East Asia, particularly in South Vietnam. However, there was also a very strong nationalist side to these movements gaining strength from opposition to regimes like that of President Diem. Diem faced strong opposition from many South Vietnamese who were not Communists. In addition, the Communist forces in South Vietnam were most definitely not under the control of the Russians or Chinese, although the 
Russians did have strong links with North Vietnam, supplying the country with substantial amounts of military aid.

Tasks

1.
Why was France unable to achieve victory against the Vietminh between 1946 and 1954?

2.
Outline the terms of the Peace Agreements of 1954.

3.
‘Civil war, or a determined campaign to extend Communist influence?’ Which, in your opinion, is the better explanation for the war in Vietnam from the late 1950s onwards?

American intervention in South Vietnam

Limited American intervention in Vietnam increased during the Kennedy administration, with the decision to increase the numbers of US military advisors. Their job was to improve training of South Vietnamese forces to counter the growing threat from the Viet Cong. By the end of 1961, there were 3,000 American military personnel in Vietnam – a year later, numbers had increased to over 11,000. As time passed, these advisors became drawn into conflict with the Viet Cong.

During 1963, President Diems’s regime became increasingly unpopular, particularly amongst Buddhists, because of its policies of repression. In addition, Diem’s forces were making little headway against the Viet Cong. On 1 November 1963, Diem was overthrown and killed in a coup by a group of generals in the South Vietnamese army. The coup leaders had the support of the CIA.

Lyndon Johnson: the escalation of the war

Lyndon Johnson had been vice-president of the United States under John F Kennedy. When Kennedy was assassinated in November 1963, Johnson took over as president.

Johnson was convinced that the Russians and the Chinese were behind the growing Viet Cong pressure in South Vietnam. He believed passionately that it was the task of the United States to do everything in its power to prevent the advance of communism in South East Asia, making this clear in a number of keynote speeches. He was also being warned by the CIA that the position 
of the government of South Vietnam was becoming steadily more difficult. He authorised a further increase in US forces – up to 20,000 by the end of 1963. 

Johnson genuinely believed that the Domino Theory was correct. If South Vietnam fell to communism, then other states such as Laos and Cambodia would be next. In a short time, he feared that communism would spread further, to countries such as Burma, Malaysia and Indonesia. The international position of the USA would become much weaker – the US’s allies would begin to lose faith in its intentions.

In the election of 1964, Johnson faced a very right-wing Republican opponent. Accordingly, it was in his own interest to be seen to follow a strong anti-Communist line.

For all these reasons, Johnson took the conscious decision to begin dramatic increases in the US commitment to South Vietnam.

Tasks

1.
How important was the ‘domino theory’ in the decision by President Johnson to increase American involvement in South Vietnam from 1963 onwards?

2.
Why do you think that American public opinion, to begin with, was broadly supportive of Johnson’s action in sending American forces to Vietnam?

The start of large-scale American involvement

The Gulf of Tonkin incident, August 1964

2–4 August 1964: The USA alleged that North Vietnamese gunboats had attacked US Navy destroyers on patrol in the Gulf of Tonkin, off the coast of North Vietnam. The Americans claimed that the North Vietnamese had made an unprovoked attack on their ships. It was established later that, in fact, the destroyers were covering South Vietnamese raids on the coast of North Vietnam. In addition, the evidence that an attack had taken place at all was strongly challenged later – by American sources. 

Johnson used this incident to win support in Congress for increased involvement in Vietnam. He could claim that the communist forces in Vietnam had deliberately attacked American forces.

In a special resolution of the US Senate, known as the Gulf of Tonkin Resolution, Johnson was given permission to send US forces to Vietnam. This decision marked the real beginning of US involvement in the Vietnam War.
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From 1964 to 1968, the United States built up massive resources, in men and materials, in South Vietnam. Initially, Johnson had strong support from the American people, who were sympathetic to his belief in checking the advances of communism. In particular, Johnson had the support of liberal American opinion, and had won a landslide victory in the 1964 presidential election. Johnson was regarded as continuing the work of John Kennedy in the field of Civil Rights, and it was during this administration that the landmark Civil Rights reforms were put into effect.

However, as the Vietnam War developed, and as the United States became more and more involved, American opinion, about the war and about Johnson, changed radically.

Operation ‘Rolling Thunder’

This was the name given to the US air offensive in Vietnam, which began at this time. US aircraft launched heavy attacks against the Viet Cong in the areas controlled by them in South Vietnam. In addition, air strikes began against North Vietnam, in an attempt to discourage the North Vietnamese from intervening in the South. US bombers, including B52 Stratofortresses, attacked bridges, supply lines and military bases in North Vietnam. 

The US bombing campaign became a key feature as the war developed. Heavy damage was inflicted on North Vietnam, and there was severe loss of life. It was hoped that this fearsome array of US firepower would persuade the Viet 
Cong and its North Vietnamese allies to back down. The US Air Force dropped a greater tonnage of bombs on North Vietnam than was dropped on Germany during World War II. However, North Vietnam’s intervention in the South continued, with supplies being sent down the Ho Chi Minh Trail, which ran through the neighbouring country of Laos.
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US ground forces sent in, March 1965

General Westmoreland, the commander of US forces in Vietnam, believed that the South Vietnamese were losing the war to the Viet Cong. He requested that substantial numbers of US troops be sent to boost the war effort.

Johnson was eventually persuaded that Westmoreland was right. In March 1965, US Marines landed at Da Nang – a major escalation of the US war effort had begun.

US forces in South Vietnam now increased steadily – General Westmoreland asked for more and more troops to be sent. President Johnson supplied them. New recruits were organised under the draft system. Eventually, over 500,000 American combat troops were involved in the war.

Fighting in Vietnam, 1965–8

The country

South Vietnam is hilly, and covered with rain forest – dense jungle. It has a tropical climate with heavy, monsoon rainfall from June to August. The American troops had no experience of fighting in these conditions, and this had a serious effect on the effectiveness of their military operations. The jungle cancelled out any American advantages in military technology, such as tanks and heavy artillery.

American forces in action

The USA entered the war confidently. It was one of the world’s strongest military powers, with overwhelming superiority in air, sea and ground forces. The American forces were convinced that the Viet Cong would stand little chance of success against the awesome firepower that the USA could deploy. The Americans expected to win – they had no reason to think otherwise.

Helicopters

Popularly known as the ‘Air Cavalry’, these were widely used by the US to move troops quickly to combat areas. Helicopter gunships were used to attack and destroy suspected enemy positions. The standard tactic was for the gunships to hammer the Viet Cong positions from the air, and then use troop carrying helicopters to bring in ground forces to complete the destruction. The Americans hoped that this tactic of air mobility would neutralise Viet Cong domination of the jungle.

Search and destroy missions

The US attempted to locate the enemy and then use massive firepower to destroy it. There was widespread use of fighter-bombers and strike aircraft to attack Viet Cong targets with bombs and napalm (fire bombs). This had limited success against guerrilla fighters like the Viet Cong – large numbers of innocent South Vietnamese were killed in these strikes.

Chemical warfare

This was one of the most controversial methods used by the Americans. Chemical defoliants were used to destroy trees and bushes to deprive the Viet Cong of ground cover – the most famous of these was called Agent Orange, which led to increased levels of cancer and the birth of deformed infants among the Vietnamese people. American troops suffered from similar issues.

Aerial bombardment

The USA had total control of the skies over Vietnam, and, as a result, was able to use its air power to strike at its enemies. US airpower was used throughout the war, both against the Viet Cong in South Vietnam and against North Vietnam. Air raids were carried against known and suspected Communist positions. Thousands of innocent people died or were injured by these air attacks. 

The Viet Cong and North Vietnamese

The commanders of the Viet Cong and of North Vietnamese forces were fully aware of US firepower. Accordingly, they fought a very different war from the Americans.

‘We rule the day, but Charlie rules the night.’

Comment by an unidentified US soldier 
(Victor Charlie is radio code for Viet Cong)

Viet Cong units did not wear uniform – it was difficult for the Americans to identify their enemies. The Viet Cong avoided large-scale pitched battles. Instead, they used guerrilla tactics: sabotage, ambush, and hit-and-run raids. Small numbers of communist forces were capable of inflicting heavy casualties on their enemies. When superior American and South Vietnamese forces counter-attacked, the Viet Cong simply melted back into the local communities, to resume their activities later on.

American troops were worn down by these methods. They never seemed to be getting anywhere. Time after time, they would attack the Viet Cong and seem to drive them out. Heavy air strikes would be ordered. After this, helicopter gunships would move in, and launch devastating attacks. The American commanders would claim that the Viet Cong had been beaten. But, 
in a short time, the enemy was back, often under cover of darkness, striking hard at the Americans and the South Vietnamese troops. Inevitably, American casualties began to rise… and American morale began to decline.

Tasks

1.
What were the Americans attempting to achieve through their extensive use of air power in Operation Rolling Thunder?

2.
The war on the ground: Make up a report on how the war was fought. Your report should cover three main areas:



the tactics used by the Americans and their South Vietnamese allies


the tactics used by the Viet Cong and their allies from North Vietnam



the reasons why the Americans, despite their great superiority in firepower, achieved so little success.

The Tet Offensive, January 1968

This is the name given to the massive attacks launched by the Viet Cong in Tet, the Vietnamese New Year, at the start of 1968.

From his headquarters, General Westmoreland, the American commander in Vietnam, had been issuing regular statements claiming the Americans and the South Vietnamese were close to victory. The US had certainly suffered high levels of casualties but, he claimed, the communists had suffered far more. Hhe believed that the communists would soon lose the war, and South Vietnam would be saved.

In January 1968, the Communists launched a massive wave of attacks on the South Vietnamese cities and on US bases.

In Saigon, the American Embassy came under attack – the city of Hue was captured for a time – heavy attacks were launched against American forces throughout the country. The Americans found themselves having to fight fiercely for areas of the country from which the communists were supposed to have been driven.

The Communist attacks were eventually driven off with heavy losses. The Communists had hoped for a massive uprising across South Vietnam, against 
the Saigon government and the Americans. This simply did not happen, so, in one sense, the Tet offensive was a heavy defeat for the Communists.

However, the Americans were badly shaken by the ferocity of the attacks. They had been in Vietnam, in strength, for three years – General Westmoreland had been assuring the US public that they were on the verge of victory. These claims now had a hollow ring. In another and very real sense, the Tet offensive was a Communist victory, in that it undermined American support for the war.

Back home, in the USA, there was growing support for the anti-war movement, and for American troop numbers in Vietnam to be reduced. More and more Americans began to criticise the war, and to distrust Johnson. They were angry at the heavy American losses in a war that was not being won.

Young men began to burn their draft cards, calling them for military service – there were massive anti-war protest demonstrations, with chants of ‘Hell, no! We won’t go!’, and ‘Hey, hey, LBJ, how many kids did you kill today?!’

Opposition to the war

From 1966 onwards, opposition to the war in Vietnam increased inside the USA. This opposition reached its height in 1968, following the Tet Offensive, as it began to be realised that American hopes of victory were receding.

Reasons for opposition

The draft 

This was the US system of compulsory military service. More and more young men became reluctant to be sent to Vietnam, because of the high casualty rates – the risk of crippling injury or death. Many men burned their draft cards and went on demonstration chanting ‘Hell, no! We won’t go!’ 

The war was wrong

More and more Americans began to believe this. Vietnam was a long way from the USA and was a very poor country – how could events there possibly be of any risk to the USA? It no longer seemed to be worth the lives of large numbers of young Americans.

Media coverage
Vietnam was the first television war – Americans were shocked and horrified at images of dead and wounded Americans, and of the harm being done to innocent civilians. How could the USA claim to be defending peace and democracy by doing these things?

Atrocities

The American public were horrified by reports that US troops had committed war crimes, in particular the murder of over 300 innocent villagers by the elite combat unit, the Green Berets, in 1968.

The Tet Offensive
This had a massive impact on US opinion. American generals and politicians were discredited – the Viet Cong had not been defeated, as had been claimed. It seemed to be stronger than ever, despite all the USA’s efforts and sacrifices.

The end of Johnson

In March 1968, Johnson announced that he would not stand for re-election as president. Among the Democrats, his own party, opposition to the war was intensifying, and it was clear that Johnson had lost so much support that he had no chance of winning.

Richard Nixon: the change in American policy

Nixon became US President in January 1969. In his election campaign, he had talked of the USA achieving an honourable peace in Vietnam. This meant that he was looking for ways in which the USA could remove its troops, but without looking like it had lost the war.

Vietnamisation

This was a key feature of the new policy adopted by Nixon. His plan was that much more of the fighting on the ground should be done by South Vietnamese forces, which would receive increased supplies of US weapons. At the same time, American forces would start to be withdrawn.

Nixon was a realist. If this policy worked, then he would have achieved a great success. South Vietnam would have been saved from Communism. If the policy did not work, then it was likely that it would take some time for the Communist forces to win, and for South Vietnam to collapse. This would allow, at the very least, the USA to save face. Either way, Nixon would be very popular with the American people, and would almost certainly be re-elected President in 1972.

The policy of Vietnamisation was very popular with US voters.

Tasks

1.
How important was the Tet Offensive of 1968 in turning American public opinion against the war in Vietnam?

2.
In what ways did Richard Nixon change American policy towards Vietnam in the years after 1968?

3.
Why do you think that it was possible for Nixon to make these changes?

Improved relations with Russia and China

During Richard’s Nixon’s administration, relations between the USA and the Communist powers improved considerably. Nixon visited Moscow and Beijing, and there was substantial lessening of international tension. Clearly, there now seemed to be much less of a threat from aggressive communist expansion: did the USA really need to commit its forces to the struggle in Vietnam?

Pressure on North Vietnam

For this policy to succeed, North Vietnam and the Viet Cong would have to be forced to negotiate in order to achieve a ceasefire. Once this ceasefire was agreed, then the USA could disengage completely from Vietnam. Nixon and his Secretary of State, Henry Kissinger, put pressure on North Vietnam in a number of ways.

The US and South Vietnamese invaded the neighbouring country of Cambodia, to attack the Ho Chi Minh Trail. At the same time, US bombers launched heavy attacks on Laos. The hope was that by doing this, North Vietnam would recognise US strength, and would agree to negotiate.

Nixon began the process of détente with the Soviet Union and with Communist China. He visited both Moscow and Beijing, and relations between the Superpowers greatly improved. Nixon knew that, by doing this, North Vietnam would realise that it may receive fewer military supplies from the Russians and the Chinese, and would therefore be more ready to negotiate.

The peace agreement

In January 1973, the American war in Vietnam finally came to an end. An agreement was reached between Henry Kissinger, on behalf of the United States, and Le Duc Tho, for North Vietnam.
· There would be a ceasefire in South Vietnam, Laos, and Cambodia.

· US forces would leave South Vietnam within 60 days of the Agreement.

· All US prisoners of war would be released.

· North Vietnamese forces would be allowed to remain in South Vietnam.

The American withdrawal

The withdrawal of American forces had commenced in 1969, and had continued steadily during Nixon’s administration. In 1973, the final American forces left South Vietnam. The long American nightmare had come to an end.

Communist victory

The peace agreement lasted barely two years. In March 1975, North Vietnam launched a full-scale invasion of the South. The South Vietnamese asked for US help, but this was refused.

The South Vietnamese army began to disintegrate. By April, Saigon itself was being threatened. On 30 April, North Vietnamese tanks captured the Presidential Palace. 

North and South Vietnam were now united under a Communist government.

The war in Vietnam – overview

For the United States, the war in Vietnam was a traumatic experience. Despite its immense power and resources, it had been unable to achieve victory. Instead, the country had become bitterly divided and disillusioned by the whole experience.

The US had entered the war for what appeared to be the best of reasons: to check the spread of communism, to encourage democracy, and to support and encourage its allies. These ideals had died, slowly and painfully, in the battlefields and jungles of Vietnam. The war had ended in failure, not because of the superiority of the Viet Cong and North Vietnamese, but because of the major shifts in public opinion within the United States. By 
1968, the American people had had enough of Vietnam – they wanted their forces out: the Domino Theory no longer seemed important!

At the same time, the world had changed. By 1970, relations with the Communist powers had greatly improved, and there was far less concern about aggressive communist expansion than in the 1950s and 1960s. American and Russia were becoming friendly, and Nixon had even visited Communist China. The Vietnam War seemed to have little part in the era of détente.

Fifty-five thousand Americans had died in Vietnam, and probably over 1 million Vietnamese (a precise figure has never been given). For the American public, Vietnam had been a terrible lesson on the limits of their power – why, exactly, had these young men been sent to their deaths? No one seemed able to answer this question. Many Americans ended up agreeing with the sentiments expressed in the song at the start of this unit:

‘One, two, three, what are we fighting for?’

Source exercises

Source 1

From National Security Memorandum 288, US Government, 17 March 1964

‘We seek an independent, non-communist South Vietnam. We do not desire that it serve as a Western base or as a member of a Western Alliance …

Unless we can achieve this objective in South Vietnam, almost all of Southeast Asia will probably fall under Communist dominance – all of Vietnam, Laos and Cambodia …

Burma and Malaysia might also fall under the domination of forces not explicitly communist at present, but likely to become so in the future …

Even the Philippines would become shaky, and the threat to India in the west, Australia and New Zealand to the South, and Taiwan, Korea and Japan to the North and East would be greatly increased.’

How useful is Source 1 with regards to the attitude of the American government towards the situation in South Vietnam at the time?

Reminder: Origin, possible purpose, content and recalled knowledge.

Source 2

From a speech by President Johnson, 7 April 1965

‘We fight in Vietnam because we must fight if we are to live in a world where every country can shape its own destiny, and only in such a world will our own freedom be finally secure …

Why are we in South Vietnam…? We are there because we have a promise to keep … We have made a national pledge to help South Vietnam defend its independence …

We are also there to strengthen world order. Around the globe from Berlin to Thailand are people whose wellbeing relies on the belief that they can count on us if they are attacked. To leave Vietnam to its fate would shake the confidence of all these people in the value … of America’s word. The result would be increased unrest and instability, and even wider war …

Let no one think for a moment that retreat from Vietnam would bring an end to the conflict. The battle would be renewed in one country and then another …’

Compare the views expressed in Sources 1 and 2 on American reasons for intervening in South Vietnam.

Reminder: Overall comparison, then point-by-point comparison

Source 3

From John Kerry’s statement to the US Senate, 1971. John Kerry was speaking on behalf of a number of veterans who had fought in Vietnam.

‘We have come here to Washington, because we feel that we have to speak out. We feel that what threatens this country is not the Reds, but the crimes which we are committing …

I would like to talk to you a little bit about what the result is of the feeling that these men carry with them after coming back from Vietnam. The country doesn’t know it yet but it has created a monster, a monster in the form of millions of men who have been taught to deal in violence, and who are given the chance to die for the biggest nothing in history …

In our opinion … there is nothing in South Vietnam which could realistically threaten the United States. To attempt to justify the loss of one American life in Vietnam by linking such loss to the preservation of freedom … is to us the height of criminal hypocrisy, and it is that kind of hypocrisy which we feel has torn this country apart …’

To what extent to the views expressed in Source 3 illustrate the growth of opposition within the United States to the war in Vietnam?

Reminder: Think about the source and its wider context.

Source 4

From a television broadcast by President Nixon, 1969

‘Let me briefly explain what has been described as the Nixon doctrine …

I have laid down some guidelines for future American policy towards Asia …

The United States will keep all its treaty commitments …

We shall furnish military and economic assistance when requested in accordance with our treaty commitments …

However, we shall look to the nation directly threatened to assume the primary responsibility of providing the manpower for its defence.

In the previous administration we Americanised the war in Vietnam. In this administration, we are Vietnamising the search for peace …

We have adopted a plan … for the complete withdrawal of all US combat ground forces, and their replacement by South Vietnamese forces on an orderly scheduled timetable …’

How fully does Source 4 explain the changes in American policy in Vietnam introduced by President Nixon?

Reminder: Think about the source and its wider context.

Section 10: Czechoslovakia, 1968

In 1968, Czechoslovakia was ripe for reform. Ever since 1953, the country had been governed, or rather mis-governed, by Antonin Novotny, who held the offices of Prime Minister and First Secretary of the Communist Party.

Economic problems grew steadily worse. The Czechoslovakian economy was very centralised. There had been a steady decline in economic growth, with production in some years actually falling. The country’s economy was stagnating. Goods were scarce, prices were high, and initiative stifled.

Novotny’s government was a repressive one, with severe limitations on artistic, cultural and literary freedom. In Slovakia, with its own distinct identity, there was growing pressure for autonomy. Novotny’s government had become increasingly unpopular and out of touch with the lives of ordinary people

By late 1967, things were so bad that even the Russians accepted that changes were necessary in Czechoslovakia. Leonid Brezhnev visited Prague in December 1967 and had lengthy discussions with Novotny. On 5 January 1968, it was announced that Novotny had resigned as First Secretary –  Brezhnev had effectively dismissed him.
Alexander Dubcek

Dubcek was First Secretary of the Slovak Communist Party. With strong backing from the Russians, Dubcek was appointed to the post of First Secretary of the Czechoslovakian Communist Party – for the entire country. To all intents and purposes, he was a typical party official, trained in Moscow. The USSR foresaw no problems with Dubcek. He was a highly intelligent and efficient individual whose loyalty to communism was total. Dubcek could be relied upon to introduce the necessary reforms into Czechoslovakia, dampening down any discontent, and ensuring that the country would remain as a loyal member of the Soviet bloc.

The Russians looked to Dubcek to improve living standards in Czechoslovakia, and to ensure that the country stayed loyal to communism

At first, Dubcek seemed uncertain how to respond to pressures for reform and liberalisation of the Party. A cautious, diffident man, he hardly seemed a revolutionary leader. Dubcek continuously emphasised two key points:

1. maintenance of the dominant position of the Communist Party in Czech politics

2. membership of the Warsaw Pact was not to be questioned.

The significance of the links with Moscow was stressed in a government declaration to the National Assembly on 24 April.

Tasks

1.
Describe the social, economic and political problems facing Czechoslovakia in the mid-1960s.

2.
Why did the Soviet Union support Alexander Dubcek as the new leader of the Czechoslovakian Communist Party?

The struggle for reform

Dubcek became First Secretary of a bitterly divided Party. The Party was split between older hard-line members around Novotny and the progressives, led by Dubcek, who were keen to introduce reforms. Dubcek’s first priority was to make sure that the party leadership would support him in his aims to modernise and reform the country.

In the struggle for power, Dubcek and the progressive communists found themselves relying more and more on the support of ordinary party members – and on the public at large. This was a dangerous tactic: public opinion might demand more and more freedoms – and the Russians would object!

The reform movement continued to gather pace. On 22 March, Novotny was forced to resign as President. The reformers began to concentrate on gaining control of the Party at all levels, including the Presidium and the Central Committee.

In April 1968, several of the hard-line conservatives were removed from the Party leadership. In May, the progressives succeeded in persuading the central committee to summon a National Congress of the Communist Party for September. Delegates to this Congress had to be elected by party members (1.7 million people): the progressives launched a strong campaign to win 
their support. In the party elections, Dubcek and the progressives won overwhelming support.

Dubcek talked enthusiastically about making the party more democratic, and more in touch with the views of ordinary people. He repeatedly stressed the need for the party leadership to listen to the people and to debate issues with them. Dubcek often appeared in public, talking to people in the streets and other public places. He began to gain support, as people learned about his ideas. Dubcek talked the kind of language that people understood – about wages, schools, healthcare and the cost of living.

Dubcek had no problem with people who disagreed with his views. He enjoyed listening and debating matters with them. He made it clear that he positively welcomed debate and argument, seeing this as the way forward for the country, and the best way to make progress towards better living standards. Dubcek became a popular figure – for the first time, Czechoslovakia had a Party leader who people actually liked!

Soviet alarm increases

Brezhnev was now very worried. What would happen if the reform-controlled Congress was allowed to meet? In mid-July, he called a meeting of five Eastern European Parties to a meeting in Warsaw. From this, came the ‘Warsaw Letter’, urging ‘healthy’ forces within the Czech party to get rid of the progressives, and postpone the Congress. This was a coded message to Dubcek to slow down, or even cease the reforms that were being introduced.

Dubcek was called to a meeting in Moscow. He refused to attend. An inconclusive meeting was eventually held between Czechoslovakian and Soviet leaders – nothing was resolved, but a common declaration was issued, talking of the need for mutual co-operation and respect. The Czechs made the erroneous assumption that they had satisfied the Russians, despite a clear warning from Kadar, the Hungarian leader, that things were becoming very serious.

The reform programme: the ‘Prague Spring’

The programme of reforms associated with Alexander Dubcek has been given the name of the ‘Prague Spring’, symbolising the dawn of a new era of enlightenment and progress, and the end of an era of bitterness and repression. People began to talk of ‘Communism with a human face’.

February 1968: Political censorship was ended, allowing the press to take a leading role in pressing for further reform. Newspapers, radio, and television began to represent a wide range of opinion on all matters.

In April 1968, the Czech Communist Party presented a new ‘Action Programme’.

1. The Party’s role was not to bring pressure on society.

2. The Party should serve society – it would do this best by encouraging free, progressive and, above all, democratic socialist development.

The Party recognised that there could be a role for other political groups, although still emphasising that its own position would remain the dominant one.

In the next four months, the reform programme accelerated, now pushed strongly by public opinion, which, due to the reduction of censorship, became increasingly powerful. Czech public opinion was massively behind Dubcek.

Further reforms included the legal abolition of censorship and the policy of granting passports to citizens as a right.

Finally, on 10 August 1968, Rude Pravo, the leading Czech newspaper, published the ‘Draft Statutes of the Czechoslovak Communist Party’ – a major reform of the structure of the Party itself:

· secret voting in Party decisions

· rights of minorities to hold, and express dissenting opinions

· limited terms of office for Party leaders.

In effect, this would have transformed the Czech Communist Party into a democratic organisation, controlled by its ordinary members. This was the exact reverse of what the USSR believed in. The breach with the USSR was now complete.

Tasks

1.
Why did Dubcek win so much support from ordinary Czechoslovakian people?

2.
Make up a table or chart to show the main reforms introduced by Dubcek’s government in 1968.

3.
What do you think that these reforms were intended to achieve?

4.
Why do you think that they were so popular in Czechoslovakia?

5.
Why was the reaction of the USSR so different to the reaction of the Czechoslovakian people?

The decision to intervene

Why did the USSR intervene in Czechoslovakia? 

1.
As already outlined, the Czech Communist Party was now controlled by a progressive faction, no longer responsive to pressure and direction from Moscow.

2.
The reforms being introduced by Dubcek were changing the whole structure of the Party. It was becoming genuinely democratic and responsive to the views of its members – and, by definition, much harder to influence and control.

3.
Dubcek’s government seemed to accept, even welcome, debate and argument. Divergent opinions were welcomed: there may be a role for other political groups, quite distinct from the Communist Party.

4.
The Russians were being pressed by the Party leaders of the German Democratic Republic. Dubcek was working hard to build up contacts with West Germany – he hoped for investment by West German businesses to help raise the standard of living in Czechoslovakia. The East Germans were, unsurprisingly, determined to stop this.

5.
Across Eastern Europe, in the other satellite states, and, even within the USSR itself, news of the changes in Czechoslovakia was spreading. If no action was taken, then, very soon, the pressure for similar reforms might spread, and become difficult to stop.

The Soviet intervention, 20–21 August 1968

Armed forces of four Warsaw Pact countries invaded Czechoslovakia on the night of 20/21 August 1968: troops from East Germany, Poland, the Soviet Union and, most bitterly of all, Hungary took part in the action. The Czechs offered no military resistance: widespread passive resistance took place. There were huge demonstrations and protest marches in Prague and other Czechoslovakian cities – streets were blocked by improvised barricades – furious Czechoslovakians argued with bewildered Warsaw Pact troops. The soldiers had been informed by their commanders that they were entering Czechoslovakia because the people there needed help.

Inevitably, the Russians claimed that they were responding to appeals for help from ‘loyal’ Czech Communists. To their embarrassment, they had great difficulty in finding Czechs willing to form an alternative government. The Soviet action had united Czechoslovakia against the Russians – the pro-Moscow hardliners had virtually no support.

Dubcek and other leaders were taken to Moscow –  the official line was that they were being taken there ‘for their own protection.’ Great pressure was brought to bear on them by the Russians who wanted all the reforms to be reversed. (Dubcek said later that he believed he had a good chance of being executed.) Finally, on 26 August, the Czechs were forced into signing the ‘Moscow Protocol’.

1. The 14th Czech Party Congress, dominated by reformers, was declared invalid.

2. Progressive reformers would be removed from the Party.

3. Press censorship was re-introduced.

4. Other political groups were totally banned.

5. The Czechs agreed to remove the issue of the Soviet invasion from the agenda of the United Nations Security Council.

16 October 1968: the Czech government signed a treaty legitimising the presence of Soviet forces in Czechoslovakia.

April 1969: Dubeck finally resigned as First Secretary of the Czech Communist Party. He was replaced by Gustav Husak, who was more sympathetic to Moscow.

The Prague Spring was finally over.

Aftermath in Czechoslovakia

Czechoslovakia survived its invasion much better than Hungary in 1956: there was no violence and no savage repression – above all, there was no massive loss of life. Dubcek was dismissed, and later expelled from the Party, but he was not executed. Other leading figures, such as Vaclev Havel, were arrested and jailed for a time for continuing to protest. The Czechs bitterly resented and hated the Soviet action, but sullenly and reluctantly they put up with it.

Czechoslovakia now had, once more, a hard-line communist regime installed in power, courtesy of Soviet tanks. The government had very little real support from the people.

Ideology – the Brezhnev Doctrine

As with Hungary in 1956, the Russians claimed to be protecting the interests of the Czech working class, against the inroads of capitalism. (It is doubtful if many Czechs would have agreed with them!) However, the USSR certainly claimed to have an ideological basis for its actions.

This ideological viewpoint was given greater emphasis in an article in Pravda, one of the leading Soviet newspapers, on 26 September, entitled ‘Sovereignty and the International Obligation of Socialist Countries’. 

In this article, Brezhnev claimed that the Czech progressives had been undermining the basic principles of Marxism-Leninism, and destroying socialism. He claimed that it was the duty of every Communist Party to share in the concerns, not just of its own country, but of all the socialist countries. Where socialism was under threat in any country, then it was the duty of other Parties to take appropriate action.

‘… This means that every Communist Party is responsible not only to its own people, but also to all the socialist countries, and to the entire Communist movement …’

This became known as the Brezhnev Doctrine: the USSR would intervene in Eastern Europe wherever it saw the need to. In the case of Czechoslovakia, the action was taken owing to fear that:

· the Czechs would leave the Warsaw Pact, despite Dubcek’s denials

· the Czech Communist Party would lose its monopoly of power – Dubcek always argued for the Party to have the leading role, although other political groups might be permitted to function

· the Czech Communist Party was under leadership completely independent of Moscow – this was true and, in the Soviet view, totally unacceptable, and sealed Dubcek’s fate.

Tasks

1.
What were the main reasons for the Soviet Union’s decision to intervene in Czechoslovakia?

2.
Describe the changes that were imposed on Czechoslovakia after the invasion.

3.
What was the Brezhnev Doctrine? How was it intended to strengthen Soviet control over Eastern Europe?

Soviet relations with Eastern Europe after 1968

The invasion of Czechoslovakia in 1968 was the final occasion in which the USSR used military strength to impose its authority on the East European states. The USSR had expressed in the Brezhnev Doctrine its justification for this – a clear indication of policy had been made.

So why was Czechoslovakia the last occasion for the use of force? Did the Brezhnev Doctrine actually work? Were the East European states afraid of provoking the Russians?

During the 1970s, the Eastern European states worked hard to avoid clashes with the USSR. There was little sign of efforts to reform or liberalise the structure of communism. Party leaderships were emphatically loyal to the USSR, following Soviet leads closely. Clearly, the lessons of 1968 had been learned – not to push the Russians too far.

As a result of this political loyalty, the East European states began to take a more independent line in economic policy. They took more control of their own economies, introducing extensive reforms. This was particularly successful in Hungary, where the standard of living rose steadily.

A new balance existed in East Europe. The USSR would allow the satellites more freedoms, so long as communist power was not challenged. The East European states accepted these rules, and worked within them.

After the destruction of the Prague Spring, it was virtually impossible to find any indications of enthusiasm or mass support for communism anywhere in Eastern Europe. In the satellite states, and even in the USSR, communism was reluctantly accepted and tolerated – people simply put up with it – at least, until something more appealing came along, as it eventually did.

Source exercises

Source 1

From the Action Programme of the Communist Party of Czechoslovakia, 10 April 1968

‘We must reform the whole political system so that it will permit the dynamic development of society appropriate for socialism, and encourage the development of broad democracy…

The basic structure of the political system must provide firm guarantees against a return to the old methods…

The implementation of the constitutional freedoms of assembly and association must be ensured this year. This will make it possible to establish voluntary organisations, special interest associations, societies and other such bodies, which will be guaranteed by law. The present needs of our society must be free from a monopoly by any individual organisation…’

How useful is Source 1 as evidence of the aims of the reform movement in Czechoslovakia in 1968?

Source 2

From Pravda, one of the main Soviet newspapers, 22 August 1968

‘Party and state leaders of the Czechoslovak Socialist Republic have asked the USSR and other allied countries to give the Czechoslovak people urgent assistance, including military assistance.

This request was motivated by the existence of counterrevolutionary forces acting in collusion with external forces hostile to socialism. These forces have created a threat to the existing socialist system in Czechoslovakia …

Negative phenomena were emerging in the country … radio, television, and press had eluded the Party’s control … There were increasing outbursts against the Soviet Union. The right-wing forces have been seeking to compel the Czechoslovak people to return to slavery under the imperialist yoke …

It is for these reasons that the Soviet Union, and the other socialist states, have decided to provide urgent assistance, including military assistance, to the Czechoslovak people …’

To what extent does Source 2 illustrate Soviet concern at events in Czechoslovakia in 1968?

Source 3

From Soviet Foreign Policy since World War II, J Nogee and R Donaldson, 1988

‘The Czech Crisis in 1968 confronted the Kremlin with an unprecedented challenge to its leadership. Leonid Brezhnev and his colleagues in the Politburo were willing to concede a substantial independence in foreign policy … as long as membership of the Warsaw Pact remained unimpaired.

Developments in Czechoslovakia, however, introduced two particularly disturbing elements for the USSR. First, they saw control of the Czech Communist Party fall into the hands of a reform faction completely independent of Moscow. Second, they feared that Party control over the political system would erode as a result of democratic changes being made in the country.’

How valid are the views of the historians in Source 3 as an explanation for Soviet alarm over the policies of the reformers in Czechoslovakia?
Section 11: The changing nature of Superpower leadership
The leadership of the Superpowers was clearly a significant factor in the course and development of the Cold War. In the various crises and incidents that took place, the individuals who led the Superpowers found themselves in positions of tremendous influence – and able to influence the course of events in crucial ways.

Leadership of the Superpowers

USSR

During the years of its existence, the USSR developed the tradition of having a single powerful individual in charge of government, and giving direction to Soviet foreign policy. There were attempts to develop a more collective leadership, but these were usually short-lived. Normally, power was controlled predominantly by one man, usually holding the key post of First Secretary, or General Secretary, of the Communist Party.

USA

Under the constitution, the president is the Chief Executive, in charge of all aspects of government. The president is also Commander-in-Chief of the USA’s armed forces, and controls and directs the country’s foreign policy. Members of the Cabinet are appointed by the president.

The leadership of the United States

President Truman, 1945–52

Truman was president at the beginning of the Cold War: he had the task of reacting to the original Soviet actions that caused suspicion and distrust in the West – the take-over of Eastern Europe in particular.

Truman deliberately set out to match and check the perceived Communist threats with the Berlin Airlift and the formation of NATO. A powerful build-
up of US armed forces was carried out, with a special emphasis on nuclear weapons.

President Eisenhower, 1953–60

Eisenhower continued the policy of building up US military strength to match the Russians – the development of nuclear missiles accelerated. This policy of confrontation was strongly pursued by Dulles, Eisenhower’s Secretary of State.

However, towards the end of his presidency, Eisenhower became increasingly concerned at the need to limit the arms build-up by the Superpowers. His attempt at a Summit Conference in 1960 ended in failure because of the U-2 Incident.

President Kennedy, 1961–3

It was during Kennedy’s presidency that the Cold War came closest to a real war, involving nuclear weapons. Tension was heightened over Berlin in 1961, with the building of the Wall, and US–Soviet confrontation. The following year saw the Cuban Missiles Crisis, and the risk of war.

Kennedy took a confrontational line with the Russians over Cuba, mobilising American forces, and setting up a blockade. This was a major crisis, and the risk of war was real. However, once it had been resolved, there were signs of an improvement in East–West relations, with the Test Ban Treaty, and the setting-up of the ‘Hot Line’.

The USA also faced a growing problem in southeast Asia, with Communist pressures in Laos and Vietnam. Kennedy began the first steps of American intervention by sending US advisers to support South Vietnam.

President Johnson, 1963–8

Johnson adopted the strongest US response to the perceived threat of Communist advance, with the massive commitment of US armed forced to the Vietnam War. Johnson was convinced that the world faced the relentless advance of Communism, unless the USA took strong action: the ‘Domino’ Theory. As a result, over half a million US troops were dispatched to South Vietnam, with massive air and naval support.

However, US strength was not sufficient to check the Communist advance on South Vietnam. As US casualties mounted, a wave of disillusionment swept the country. The war became increasingly unpopular – as did Johnson. He did not contest the presidency in the election of 1968.

President Nixon, 1969–74

A major change of emphasis in US foreign policy took place under Nixon. American ground forces involvement in Vietnam was greatly reduced, and finally ended. Instead, much greater reliance was placed on using South Vietnamese forces – ’Vietnamisation’. For a time, Nixon greatly stepped up the use of US air power, but there was a clear decision against the extensive use of ground forces in Vietnam, or in any future conflict. This policy was popular, and contributed to Nixon’s re-election in 1972.

Nixon also worked to improve relations with the USSR, and achieved substantial success in this – through the work of Henry Kissinger, his Secretary of State, the first SALT agreement was concluded. A major breakthrough came with the opening of relations with Communist China, and a triumphant meeting between Nixon and Mao in Beijing. This was the beginning of the era of détente.

President Ford, 1975–6

Under Ford, who replaced Nixon after his resignation, the process of détente continued – relations between the Americans and Russians greatly improved.

President Carter, 1977–81

The work of improving relations continued steadily under Carter’s administration, until the Soviet decision to intervene in Afghanistan in 1979. This led to a serious deterioration in Superpower relations, which led to a fresh arms race in the 1980s, during the presidency of Ronald Reagan.
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President Reagan, 1981–9

Reagan’s term of office began with a serious deterioration in relations between the USA and the USSR.

Reagan was convinced that that the Russians only respected strength and firmness in international relations. As a result, under his administration, the United States began a major expansion and development of its armed forces. Reagan’s firm attitude was confirmed when he denounced the USSR as an ‘Evil Empire’.

However, in the second part of his administration, there was a major improvement in relations, with the emergence of Mikhail Gorbachev as Soviet leader. From 1985 onwards, dramatic improvements in relations began, with the Cold War moving towards its conclusion.

The leadership of the Soviet Union

Josef Stalin, to 1953

The Cold War had its origins under the dictatorship of Josef Stalin. During his leadership, many of the patterns of conflict that divided the world became established and entrenched.

The countries of Eastern Europe found themselves under increasingly powerful Soviet domination. Democracy was stifled and strict Communist regimes established, backed by the power of the Red Army. The East European states became satellites of the USSR, with their political, economic, and military structures totally subordinated to the needs of the Russians.

Stalin also undertook the initial stages of the Soviet nuclear arms programme.

Collective leadership, 1953–6

Following Stalin’s death, there was an attempt to establish a more collective form of Soviet leadership, with power being shared between Khrushchev, Malenkov, Bulganin and Molotov. However, gradually, the others were edged out of power, leaving Khrushchev with the predominant authority.

Nikita Khrushchev, 1956–64

Khrushchev held great power, but was never the dictator that Stalin had been. Under his leadership, attempts were made to reform the Soviet Union. In the period of the ‘Thaw’ in the Cold War, a much more moderate line was taken, both inside and outside the USSR. At the 20th Congress of the Communist Party in 1956, Khrushchev delivered a strong attack on Stalin and his policies.

Across Eastern Europe, this attack on the Stalinist system was seen as an opportunity for the satellite states to begin asserting themselves.

Poland, 1956: Khrushchev conceded greater control over internal matters to the Polish government.

Hungary, 1956: The Hungarians committed the fatal error of attempting to challenge the entire Communist system, and wanted to leave the Soviet bloc completely. This was too much for Khrushchev, and the brutal suppression of the Hungarian Uprising followed, and a regime sympathetic to Moscow was installed.

Khrushchev made a number of attempts to improve relations with the West, and work towards disarmament, most notably the Paris Summit of 1960, which collapsed over the U-2 Incident.

There then followed a time of serious deterioration in East West relations, with two major crises developing:

Berlin, 1961: This can be regarded as a Soviet success – the Berlin Wall was built, West Berlin was sealed off from the East, and the flow of refugees from East Germany came to a halt, while the USA was powerless to intervene.

Cuba, 1962: This began as an attempt by Khrushchev to match the USA’s lead in long-range ICBMs, by installing medium range missiles on Cuba. The confrontation with the Americans duly followed, with the world on the edge of nuclear war. The crisis was resolved by the Russians backing down, and removing their missiles. Kennedy allowed Khrushchev to save face by promising not to invade Cuba, and by removing some obsolescent American missiles from Turkey. However, the Russians had clearly suffered a major setback, and this was certainly a factor in Khrushchev’s fall from power in 1964.

Leonid Brezhnev, 1964–82

Following Khrushchev’s removal, it seemed for a time that the USSR might return to collective leadership, with Brezhnev, as Party Secretary, apparently sharing power with Alexei Kosygin, the Prime Minister. However, power became steadily concentrated in Brezhnev’s hands, and it was clear that he was in overall charge of Soviet foreign policy.

There were three clear strands to Soviet foreign policy during this period.

1.
A distinct improvement in relations with the Americans, and the West, took place. The first SALT Treaty was completed, and there were other examples of improvements in relations, particularly between East and West Germany. Brezhnev clearly favoured détente with the West.

2.
The development of Soviet military power continued, this time with a strong emphasis on sea-power – clearly intending to match the Americans in this.

3.
Soviet control over its satellites in Eastern Europe was reasserted. Under the Brezhnev Doctrine, the USSR claimed the right to intervene in any of its satellites, should the need arise.

Yuri Andropov and Konstantin Chernenko, 1982–85

Andropov and Chernenko were both elderly and sick men when they attained supreme power in the Soviet Union. At this time, it was becoming increasingly obvious that the USSR was falling seriously behind in the emerging technologies of ICT and computers. Soviet economic growth was stagnating and it was inevitable that, sooner or later, drastic policy changes would be required.

Mikhail Gorbachev, 1985–91

Gorbachev was the final leader of the Soviet Union, leading the state until its final collapse in 1991. It was under the leadership of Gorbachev that relations with the USA improved out of all recognition, and the Cold War came to its final end.
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Tasks

1.
Make a table to show the leadership of both Superpowers during the Cold War for each of the following decades:



1940s


1950s



1960s



1970s



1980s

2.
Give three examples of incidents where you think that American and Russian leadership was either particularly successful or less effective and unsuccessful. Give reasons for your choices.

Section 12: How important was ideology in the conflicts of the Cold War?

Ideology is best described as a set of beliefs or ideals – beliefs and ideals that are highly important to people and to societies.

Some ideologies are religious or spiritual: Christianity, Islam, Judaism.

Some ideologies are political: socialism, communism, fascism, liberalism, democracy.

The Cold War was heavily influenced by ideologies. 

In one sense, everything that took place during the Cold War was ideological in origin. The United States and the Soviet Union had totally opposed and conflicting ideologies: the USA supported democracy and capitalism, and the USSR supported socialism and communism.

Each side frequently argued that whatever action it was taking at a particular time was influenced by, or done in the name of, the ideology it favoured. This can be seen particularly clearly in some of the conflicts and crises where the Superpowers came into conflict.

Hungary, 1956

In 1956, the USSR suppressed the Hungarian Revolution, and did so with great violence and brutality. There was bitter fighting in the streets of Budapest, and thousands of Hungarian people were killed. Later on, some of the Hungarian leaders were executed by the new Hungarian government which the Russians installed in power.

The Russian claim
The USSR claimed, inevitably, that it was totally justified in its actions. In Hungary, the socialist system was being threatened – greedy capitalists were trying to take over, and would crush and oppress the helpless Hungarian workers. So, the USSR was quite clear – it did not ‘invade’ Hungary at all. It 
acted in support of the socialist system that it believed was the best possible way of life.

Reality?
Nikita Khrushchev certainly, as a good communist, believed in a socialist system. However, in 1956, what he saw as the main danger was the total collapse of Soviet power to control Hungary – a possibility that could extend to other East European states if it was not stopped very quickly. This, and not the survival of some kind of socialist system, was the main motive for the Soviet action.

Ideology?
However, in a very real sense, Hungary in 1956 was very much about ideology. The Hungarian people showed massive enthusiasm for a particular ideology – for democracy, and for democratic freedoms. However, this belief in democracy did not suit the USSR, and the invasion and repression followed.

The Berlin Crisis, 1961

The Berlin Wall was the ultimate symbol of the division and disputes of the Cold War. In 1963, President Kennedy visited the city and, in a famous speech, stated that, if any person wanted to understand what the Cold War was really about, ‘let them come to Berlin’ and he was correct.

The Russian claim
To what extent were the Berlin Crisis and the Wall configured by ideological issues? 

According to the East Germans and the Russians, ideological issues were paramount. In East Germany, the Communist system had been a great success: people were happy, the socialist system had raised living standards, life was good! The only problem, according to this viewpoint, was that Western capitalists (some of them former Nazis) were trying to destroy this wonderful way of life: therefore, the Wall had to be built to protect East Germany and its people.

Reality?
The reality was very different – and there was a very definite ideological issue. The East German state, the German Democratic Republic, was not a 
success – there was no freedom, there was oppression, living standards were poor, and most people hated it! Over 3 million East Germans moved West in the years up to 1961 – mostly, the younger, skilled workers. The wall was built to prevent this population loss, and for no other reason.

Ideology was very important. The East Germans who went West loved the idea of democracy: they liked the ideas of freedom, of proper elections, of newspapers, radio and TV that told the truth, and not what the government ordered. They loved democracy – and hated communism!

The Cuban Missiles Crisis, 1962

This was the closest the world ever came to nuclear disaster – it was the most direct confrontation ever between the USA and the USSR, and a terrifying episode in world history.

In one sense, it can be argued that the Cuban Missiles Crisis had a basis in ideology. The USA detested communism – Castro’s revolution in Cuba had established a communist state 90 miles from the USA. The USA was clearly strongly opposed to Fidel Castro on ideological grounds: he was a communist.

However, it is difficult to argue that the Missiles Crisis was ideologically based. For the United States, the problem was more fundamental: Soviet nuclear missiles being set up much closer to the American homeland than ever before.

For a number of reasons, this was unacceptable to the Americans.

· The USA had been humiliated at the Bay of Pigs, in 1961, in the attempt to overthrow Castro.

· Kennedy was determined not to be seen as a weak president.

· Kennedy was facing a powerful challenge from the Republican Party in the mid-term elections in November 1962. He needed a success in foreign policy to make this certain.

The key issue over Cuba in 1962 was one of power, not ideology.

The war in Vietnam

When we think of the long tragedy of the Vietnam War, what images come to our minds? Perhaps footage of US Marines in action, the victims of Viet Cong guerrilla raids, children horribly burned by napalm, raids by B-52 
bombers, or coffins being unloaded from US Air Force transport planes. Whatever we think of, Vietnam seems a long way from any thoughts about whether communism or democracy was the better ideology.

Why did the United States intervene in Vietnam? We have to go back to the idea of the Domino Theory, originally spelt out by President Eisenhower in the 1950s – the idea that the countries of South East Asia were like a row of dominoes. If one domino fell, then eventually, all the dominoes would fall – if one country went communist, then all of South East Asia would eventually fall to communism.

President Johnson was a strong believer in the Domino Theory, as were most of his main advisers. In this view, communism was an evil system, which had to be stopped. In Vietnam, the most effective way to contain communism was for the USA to intervene militarily, in strength. It was pointed out, by some authorities, that what was going on in Vietnam was essentially a civil war, and that the government of South Vietnam was quite a long way from being any kind of democracy. To Johnson, this did not matter – communism had to be stopped, and the long agony of the American involvement in Vietnam began.

So, in a very real sense, the American intervention in Vietnam can be regarded as one of the most ideologically driven episodes of the entire Cold War.

Czechoslovakia, 1968

In 1968, the USSR certainly claimed an ideological basis for its intervention in Czechoslovakia.

In Czechoslovakia, the reformers had undermined and weakened the socialist system. The great achievements of socialism were in danger of collapse, with the country at risk of falling under the control of greedy capitalists. In the Brezhnev Doctrine, the USSR claimed that it was its duty to intervene in any socialist country which was under threat.

Reality?
Dubcek had introduced a major series of economic and political reforms in Czechoslovakia. A committed communist, Dubcek saw the role of the Communist party as being to serve the country rather than to control it. He believed that the party leadership should be elected by the membership in democratic elections. He believed in freedom of speech and in debate – he ended censorship of the media.

It is hardly surprising that Dubcek’s reforms were popular with the people.

Soviet intervention
The USSR intervened because it was losing control over Czechoslovakia. Under Dubcek’s reforms, the country would be run in accordance with the wishes of the people, rather than the wishes of the USSR. Russia was afraid of losing power – and, of course, worried that other satellite states might begin to develop similar ideas.

There was a definite ideological dimension to the crisis in Czechoslovakia in 1968 – the people showed an increasingly strong identification with the ideas of freedom and democracy.

Tasks

1.
What do you understand by the word ideology?

2.
Explain the most important differences between the ideologies of the USA and the USSR.

3.
Think about the examples of crises and conflicts during the Cold War which you have studied. Make up an information leaflet about the role of ideology in the Cold War. In your opinion, how important was ideology as an issue dividing the two sides? (Try to use some specific examples in your answer.)

Section 13: Attempts to improve relations between the Superpowers

Throughout the period of the Cold War, there were efforts by both sides to resolve problems, and to maintain and develop contacts with each other. This became crucially important with the accelerating development of nuclear weapons. Both sides had to accept the necessity for the avoidance of war between them – nuclear weapons made war unthinkable.

The post-Stalin era: peaceful co-existence

Once more, our starting point is the death of Stalin, in 1953. The new Soviet leadership, particularly Nikita Khrushchev, began to speak of the need for ‘peaceful co-existence’ with the capitalist West, due to the total rejection of nuclear war. The communist and capitalist worlds would have to exist, peacefully, side-by-side. Accordingly, it made sense for both sides to work actively, to reduce tension and the risk of war. The first ‘Thaw’ in the Cold War was under way.

The ‘Thaw’

The first signs of an improvement in relation were quite encouraging.

· The Austrian State Treaty, 1955 – USSR accepted that Austria would now be a neutral state and all occupation forces were withdrawn.

· A naval base was returned to Finland by the USSR.

· Relations between USSR and Yugoslavia improved.

· A summit conference was held at Geneva in July 1955. Discussions were held about a number of topics, particularly the division of Germany. Although the Geneva Conference achieved little in concrete terms, the fact that it had taken place at all was highly significant – the two sides were now talking to each other. Further progress was expected.

Khrushchev’s aims

Khrushchev was determined to improve relations with the West. If this happened, then Russia could devote more of its resources to developing its economy, and spend less on defence. In this way, Soviet prosperity would demonstrate the inevitable triumph of socialism to the world.

The Soviet action in Hungary in 1956 was a setback to Khrushchev’s policy of improving relations with the West. However, within a short time, the drive to achieve better relations had resumed.

March 1959: The British Prime Minister, Harold Macmillan, visited Moscow.

May-August 1959: A conference of foreign ministers was held in Geneva.

September 1959: Khrushchev visited the USA and President Eisenhower, whom he described as a ‘man of peace’. A further summit was arranged to be held in Europe in 1960.

January 1960: Khrushchev announced big cuts in the manpower of the Red Army.

The Paris Summit Conference May 1960

Both sides hoped for significant gains from this conference. 

Khrushchev hoped to achieve a settlement to the developing problem of Berlin, where East Germany was losing a steady stream of key personnel through the enclave of West Berlin. A success here would enhance Khrushchev’s position considerably.

The Russians also hoped for agreements on nuclear weapons– prohibiting them from Germany and also from the Pacific. Khrushchev hoped for a triumph in Paris to respond to challenges from China over alleged Soviet weakness.

The Americans also hoped to make significant gains from the summit. Eisenhower was increasingly worried about the quickening pace of the nuclear arms race. He was convinced of the urgent need to slow down the arms race and to move towards nuclear disarmament. Eisenhower was also hoping to end his presidency on a note of diplomatic success.

Therefore, both leaders were keen to work towards peaceful co-existence, although for different reasons. Both leaders faced domestic criticism over their policies.

The U-2 Incident

On 5 May 1960, on the eve of the conference, Khrushchev announced that the USSR had intercepted an American spy-plane, a Lockheed U-2, on a mission over Russia. The pilot, Captain Gary Powers, was captured.

For the USA, the situation was a diplomatic nightmare. Khrushchev denounced American treachery, and laid down conditions required if the Summit Conference was to take place: the USA to apologise for the U-2 Incident, stop all future flights and punish those responsible. Eisenhower cancelled future flights, but nothing else.

Khrushchev, in a rage, left Paris after further denouncing the American action. He deliberately insulted Eisenhower by declaring that the Summit should reconvene in six to eight months – when Eisenhower would no longer be president.

The Paris Summit Conference was a total failure.

The Vienna Summit, June 1961

Again, the main emphasis was on Berlin. Khrushchev and Kennedy, the new US president, agreed to meet in Vienna. Khrushchev was hoping for concessions from Kennedy, whom he believed to be weakened due to the Bay of Pigs incident in Cuba.

The Conference was a failure. Khrushchev again pressed for a peace treaty to resolve the Berlin problem. If the USA would not agree, then he threatened a separate Soviet Treaty with East Germany, which would have the effect of blocking access to West Berlin. Kennedy refused to concede this, and the Conference ended in disagreement, with the Berlin situation worsening steadily.

The ‘Hot Line’, June 1963

This was a direct telephone and telex link between the White House and the Kremlin, established in June 1963. During the Cuban Missile Crisis, there had been serious concern at the delays in urgent messages reaching their destinations. The ‘Hot Line’ was an attempt to improve on this.

After the near disaster of the previous autumn, this was a positive move.

The Test Ban Treaty, August 1963

This was seen as a further big step in improving East–West relations. The USSR, USA and the UK signed a treaty prohibiting the testing of nuclear weapons in the atmosphere, in outer space and underwater. If the two Superpowers could agree to refrain from testing nuclear weapons, then agreement might well be possible in other areas.

The Nuclear Non-Proliferation Treaty 1968

This was a natural follow-on to the Test Ban Treaty of 1963. The intention was that those countries that already possessed nuclear weapons should try to prevent their spreading further or proliferating.

The Treaty was originally drawn up by the USA, USSR and the UK, providing for the creation of an International Atomic Energy Authority (IAEA), based in Vienna, to inspect countries developing atomic power for peaceful purposes, so that nuclear materials could not be used to make bombs.

The Treaty had only limited success. By 1985, 131 countries had signed it, agreeing not to build nuclear weapons. However, some countries then tried to find ways around the treaty; for example, North Korea never allowed IAEA inspectors to carry out checks. Some countries did not sign it, such as Israel, which had a nuclear capability, and India, which tested a bomb.

However, although the Nuclear Non-Proliferation Treaty had flaws, it did mark a further step in building and developing contacts between the nuclear powers.

Détente in Europe I: Ostpolitik

The later 1960s and early 1970s saw major efforts to improve East–West relations in Europe. Here, the initiative for progress came from the Federal Republic of West Germany, and the development of Ostpolitik (Policy towards the East), developed by Willy Brandt, first as Foreign Minister, and then as Chancellor after 1966.

Brandt had been Major of West Berlin at the time of the Berlin Crisis – he knew, better than anyone, the bitterness of the division of Germany. However, Brandt was a realist: re-unification in the present political climate was impossible. However, much could be done to improve relations between West Germany and Eastern Europe and the USSR.

Brandt offered to recognise the frontiers of Poland and Czechoslovakia as permanent, as a first step towards improving relations. Moreover, he declared his support for any moves to reduce arms levels in Europe.

January 1967: West Germany and Romania established diplomatic relations.

February 1968: West Germany opened a trade mission in Czechoslovakia.

September 1968: Ban lifted on West German Communist Party.

March 1969: Brandt visited the German Democratic Republic (East Germany).

August 1970: Non-Aggression Treaty agreed between West Germany and USSR.

December 1970: Non-Aggression Treaty agreed between Poland and West Germany.

December 1972: Treaty between the German Democratic Republic and the Federal Republic covering trade and cultural links was agreed, leading to a major improvement in relations.

Détente in Europe II: The Helsinki Conference 1972–5

By the early 1970s, due to the success of Brandt’s Ostpolitik, the situation in Europe had improved greatly. The USSR was developing greater economic links, including a natural gas pipeline from Russia to the West. It was felt that the time was ripe for more general discussions to reduce tension in Europe.

In July 1972, the first round of talks on European security and co-operation opened at Helsinki in Finland. The conference came to an end in August 1975 with the Helsinki Final Act, a 30,000 word document signed by 33 European countries, the USA and Canada. This was more a statement of aims and intentions, than a treaty.

The Final Act consisted of four headings, known as ‘baskets’:

Basket 1

The signatories pledged to recognise the inviolability of Europe’s frontiers – any changes to frontiers would have to be agreed peacefully. The signatories further agreed to refrain from interference in the affairs of other countries, to renounce the use of force and to respect minority rights.

Basket 2
This dealt with co-operation in the fields of economics, science, technology, and the environment – trade agreements were encouraged.

Basket 3

This dealt with co-operation in humanitarian and cultural fields, such as freedom of movement, and the re-unification of families.

Basket 4

This provided for a follow-up conference in Belgrade.

Tasks

1.
Why were both Khrushchev and Eisenhower both keen to improve relations between the Superpowers in the late 1950s?

2.
How successful were the moves to limit the nuclear arms race in the 1960s?

3.
To what extent was the West German policy of Ostpolitik successful in reducing tension in Europe in the 1970s?

Strategic Arms Limitation Talks (SALT)

By the later 1960s, it was felt that there might be a chance of the Superpowers reaching an agreement on limiting the development of strategic nuclear weapons – the most powerful and destructive nuclear weapons. Both sides had their own distinct reasons for wishing to do this – if successful, the world would become a safer place.

A key factor driving the Superpowers in the direction of limiting strategic nuclear weapons was the quickening pace of technology. In particular, the development of anti-ballistic missile systems (ABM), whereby attacking nuclear missiles could be intercepted and destroyed before reaching their targets. If this continued, then there would be a massive, vastly expensive acceleration of the arms race – and, inevitably, a heightened risk of actual nuclear war.

This had begun in 1963, with the USSR starting to deploy an ABM system (known as ‘GALOSH’) to defend Moscow. In 1967, the USA began to develop an ABM system of its own, ‘Safeguard’. However, by 1969, the US Congress had begun to criticise the Safeguard programme, on grounds of cost.

Motivation

Why did both sides agree to open a dialogue on strategic nuclear weapons?

The Russians

Most probably, they were worried about the American Safeguard ABM system, which would reduce their capability to inflict heavy damage on the USA. Also, their own Galosh system did not work very well.

The Americans 

Nixon was hoping for Soviet support in ending the Vietnam war. Also, he knew that Congress might well ‘pull the plug’ on the US ABM system – it made sense to use it as a bargaining chip. Finally, Nixon was very worried about the increasing numbers of Soviet ICBMs. Due to the unpopularity of the Vietnam war, heavy increased defence expenditure could be difficult – it might not be well received by American voters.

SALT I

The first SALT Treaty was signed at a summit conference held in Moscow, in May 1972, between Nixon and Brezhnev. SALT I consisted of two parts.

1.
An interim agreement set a five-year freeze on US and Soviet missile launchers at their existing levels:

	
	USA
	USSR

	ICBMs
	1054
	1618

	SLBMs
	656
	740

	Long-range bombers
	455
	140



(The USA had already deployed multiple warhead missiles (MIRVs), hence its readiness to concede greater numbers of launchers to the Russians. In warheads, the USA had a three to one lead.)

2.
The second agreement consisted of an Anti-Ballistic Missile (ABM) Treaty, with each side permitted two ABM screens: one for their capital cities, and the other for a major missile site.

The Limitations of détente

Although the conclusion of SALT I and the Helsinki Final Act seemed to be significant progress, the second half of the 1970s saw a steady slackening in the pace of detente. There were several factors involved in this.

The collapse of the Nixon presidency

The unravelling of the Watergate Crisis led eventually to Nixon’s resignation in 1974, and his replacement by his vice-president, Gerald Ford. This weakening of presidential authority reduced US enthusiasm for further agreements with the Russians, particularly from American conservatives.

Weakness in SALT I

SALT I had imposed limits on launchers, not on what was launched. In 1973, to American horror, the USSR successfully deployed MIRV warheads on its missiles, as the USA had already done. (MIRVs are Manoeuvrable Independently Targetable Re-Entry Vehicles: each missile could carry three or more warheads, each aimed at a separate target.) This meant a new, accelerated pace to the arms race.

Human rights

There was growing concern in the West at the question of human rights within the USSR, particularly over the treatment of prominent dissidents such as Andrei Sakharov.

SALT II

There was considerable difficulty in the further development of agreements designed to limit nuclear weapons. New generations of weapons were being developed – new ICBMs and SLBMs – and also, more dangerously, new intermediate range weapons, like the American Pershing and the Soviet SS20. (These missiles were based in Europe, and had much shorter flight times to their targets, thereby giving both sides less time to decide on their response.)

Negotiations on a new set of strategic arms limitations lasted from 1977–9. Negotiations were long and difficult, but in June 1979, a SALT II treaty was signed at Vienna between President Carter and Brezhnev.

1.
Strategic launchers of all kinds (ICBMs, SLBMs and bombers) were limited for both sides to 2400 with a planned further reduction of 2250 by the early 1980s.

2.
Limits were placed on the numbers of MIRV warheads which could be deployed: up to ten on any ICBM, and up to 14 on any SLBM.

3.
Only one new ICBM and one new SLBM could be deployed by either side.

SALT II was certainly a further step in the right direction, aimed at slowing down the arms race. It was intended to last for six years, up to 1985. However, SALT II was never ratified by the US Senate (a requirement for all US treaties), in response to the Soviet intervention in Afghanistan at the end of 1979.

Although never formally completed, both sides actually followed the provisions of SALT II for a number of years.

Tasks

1.
What were the main motivations driving the USA and the USSR to attempt to limit the further development of strategic nuclear weapons in the 1970s?

2
Why did the SALT treaties only have limited success in achieving their objectives?

Source exercise
Source 1

From The Cold War, the Great Powers and their Allies, J P Dunbabin, 1994

‘The next stage of the US–Soviet nuclear relationship was the pursuit of a Non-Proliferation Treaty, to keep these terrible weapons in safe (ie existing) hands. Negotiating this was complicated since it involved the attempt to ensure that other countries did not divert nuclear fuel and turn it into bombs.

By 1968, this Treaty had been concluded. It allowed for international inspection of nuclear power developments, and was ratified by over 100 states. Several important countries refused to sign the Treaty and continued with nuclear research which limited the Treaty’s effects.

However, if the Non-Proliferation Treaty had only limited success, it did continue the habit of East West nuclear negotiations which had begun in the 1950s.’

How useful is Source 1 as evidence of some of the difficulties facing attempts to reduce the risk of nuclear conflict?

Section 14: Afghanistan

Russia’s Vietnam?

The Soviet decision to intervene in Afghanistan in December 1979 took the world by surprise. There is still debate about precisely why the Russians took the decision to move into what is probably one of the most difficult countries in the world to control by military force.

Almost certainly Leonid Brezhnev was concerned about the growth of Muslim opposition groups in Afghanistan, and the effect that they might have on the Muslim population of the USSR.

The Soviet occupation took pace rapidly – on 1 January 1980, a new Afghan government, sympathetic to Moscow, had been installed in power in Kabul, the capital city. Soviet troops now began to work with the Afghan army to defeat the opposition Muslim groups.

The struggle in Afghanistan

The Mujahideen, the Muslim opposition groups, were expert guerrilla fighters: they launched deadly ambushes, blew up Russian supply lines, attacked transport planes, and killed Afghans whom they suspected of helping the Russians. They also received arms from the Americans and the Chinese. Against them, the Russians deployed powerful ground and air forces, tanks, heavy artillery, air strikes, and all their latest military technology.

The Mujahideen had one more factor in their favour – Afghanistan itself. The Mujahideen knew the land – the mountains, the hidden trails over them, and the best places for ambush. The Russians did not; thus, their technology and firepower were ineffective in face of this.

During the 1980s, the USSR struggled to win in Afghanistan. By 1988, the country had been devastated, huge numbers of civilians had been killed and over 20,000 Soviet soldiers had died. Russian army morale was crumbling; the soldiers hated Afghanistan, and feared being posted there. In the USSR, the people had turned against the war because of the high casualties, and because of the drain on the Russian economy.

The Soviet withdrawal

Mikhail Gorbachev, who became Soviet leader in 1985, knew that this could not go on. The Afghan war was tearing Russia apart.

In 1988, an agreement was made to withdraw Soviet forces from Afghanistan

The international impact of the war

The Soviet intervention in Afghanistan had two major effects on Russia’s international position.

First, it caused a serious deterioration in relations with the United States, after the high hopes of the détente period in the 1970s. President Reagan and his advisers saw the USSR as returning to its old ways of aggression and the subversion of neighbouring states. Reagan referred to the USSR as the ‘evil empire and began to increase the power of US armed forces in response to the perceived threat.

Second, within the USSR, the Afghan War was a disaster. The Russian economy was not strong enough to contain the costs of the conflict – the result was a slump in living standards for ordinary Russians. Increasingly, the Russian people began to question the actions of their own government. These feelings of hostility towards their rulers were heightened by the heavy loss of life in Russia’s armed forces.

Tasks

1.
Why did the USSR decide to intervene in Afghanistan?

2.
What effects did the conflict in Afghanistan have on relations between the USSR and the USA?

Section 15: Poland

The growth of Solidarity

Poland was the largest of the East European satellite states, with a population of over 30 million people. During the 1950s and 1960s, the country had remained relatively calm, closely linked to the USSR through the Warsaw Pact and Comecon. 

In the 1970s, all this was about to change, with the emergence of the Solidarity movement.

National feeling in Poland

Throughout its long history, Poland had always had a distinct sense of its own national identity. This was heightened by the fact that the vast majority of Poles were Roman Catholics – a religion that the Communist regime regarded with hostility. This link with Poland’s national identity and the Catholic Church was given a massive boost with the election, in 1978, of the Archbishop of Krakow as Pope John Paul II.

The Poles had accepted Russian domination after 1945 and its status as a satellite state –but this did not mean that they liked it. Poland and Russia have a long history of hostility going back several centuries. Events during World War II had, if anything, strengthened that hostility – Stalin had partitioned the country with Hitler in 1939.

In the 1970s, Poland was experiencing an economic slump, with falls in the standard of living. In 1970, serious anti-communist rioting took place in the city of Gdansk, which was suppressed by force. 

A new communist leadership was established, under Edvard Gierek, to attempt reforms. However, the social and economic difficulties facing the country continued.

Solidarity

In 1980, the Poles had simply had enough! The country was massively in debt, prices were soaring upwards, there were shortages of basic items of 
food, and a worsening fuel situation (a major problem, in view of the severity of Polish winters). The official party newspapers, inevitably, claimed that everything in Poland was fine. The Polish people knew better.

Once again, trouble erupted in the industrial city of Gdansk, where the shipyard workers went on strike. The workers’ anger was directed at the government, and at the total failure of the trade unions to do anything to help them. As with everything else in a communist state, official trade unions were part of the ruling party structure – and did what the party told them to.

This time, there was a major difference in the strikes. The workers found an inspiring leader in Lech Walesa, an electrician. Walesa was a brilliant speaker and organiser, and the workers swung behind him.

Walesa argued for the creation of a new, independent trade union movement, run by the workers themselves, not by the Communist Party – this movement would be called Solidarity. Walesa received massive backing for his ideas from the Polish people. In few months, Solidarity grew to be a formidable national movement, with over 9 million members.

Victory?

The ruling Communist party had to decide what to do about Solidarity. In its terms, Solidarity was an illegal organisation, and should be suppressed, but suppressing 9 million people might be difficult. The government decided to negotiate. An agreement was eventually made.

Solidarity appeared to have made some spectacular gains. The government accepted that Polish trade unions would now be independent of state control. In addition, workers were granted the right to go on strike – no other communist state permitted this.

Crackdown

The following year, 1981, the troubles in Poland resurfaced. Strikes broke out in protest at continued economic problems. A new government led by an army officer, General Jaruzelski, took control. He was given an ultimatum by the Russians: either the strikes were stopped and Solidarity suppressed, or there would be direct military action by the USSR.

Jaruzelski acted quickly.

· Martial law was declared across Poland

· The leaders of Solidarity, including Walesa, were arrested.

· Force was used to break up action by striking coal-miners.

The USSR was satisfied – there was no need for military intervention in Poland. Jaruzelski had at least saved the country from the potential brutality of Soviet military force, like that used against the Hungarians in 1956.

Walesa was released after a year in prison. Solidarity was suppressed, at least in public. However, underground and in secret, it remained highly active with strong and flourishing support. The people of Poland had enjoyed the taste of freedom, and would not forget it. There was no enthusiasm or support for the communist regime. It was something they would have to put up with – for the time being.

In a few years, Solidarity and Lech Walesa would return to the political stage.

Tasks

1.
Account for the emergence of the Solidarity movement in Poland in the 1980s.

2.
How successful was Solidarity in challenging the power of the communist regime in Poland?

Section 16: The end of détente

The Reagan presidency

Ronald Reagan became president of the United States in January 1981. Relations with the USSR had already deteriorated badly due to the Russian invasion of Afghanistan. Under President Reagan, for a time, things became worse, with people speaking of a ‘second’ Cold War developing between the Superpowers, after the progress during the détente period of the 1970s.

Reagan was a politician of strong political convictions, who was totally opposed to communism and all that it stood for. In 1983, in a widely-publicised speech, Reagan denounced the Soviet Union as an ‘Evil Empire.’ This seemed very clear. The USSR was the enemy of the United States, and would be opposed with vigour.

Reagan’s views were simple and clear-cut. He believed that the period of détente in the 1970s was a mistake, and that it had the result of making the Russians behave more aggressively as in Afghanistan, believing that the USA had grown weak. He argued that that the only thing the Russians understood was strength, and embarked on an extensive programme of expanding and improving the USA’s armed forces, including its nuclear weapons. 

New intermediate range nuclear weapons

The USA began to deploy a new generation of intermediate range nuclear missiles in Western Europe. These missiles, known as Cruise and Pershing, were in response to new Soviet SS-20 missiles deployed in Eastern Europe.

To many observers, this looked like a return to the frantic days of the arms race of the 1950s and early 1960s. Not surprisingly, many people began to grow distinctly uneasy, particularly in Europe. The risks of direct conflict between the Superpowers now seemed to be increasing.

Attempts to begin discussions on arms limitation between the Superpowers ended in failure in 1982.

Strategic Defence Initiative: ‘Star Wars’

In 1983, President Reagan announced the Strategic Defence Initiative, popularly known as ‘Star Wars.’ This scheme involved using laser and particle beam weapons, fitted to satellites, to protect the USA from incoming nuclear missiles. Reagan was very enthusiastic about the scheme, arguing that it was purely a defensive development, that it did not threaten the USSR, but protected the USA.

The USSR took the SDI scheme very seriously because, if it worked, it could mean that the USA would be safe from an attack by nuclear missiles. Up to this point, both Superpowers had assumed that a nuclear war was unthinkable – Mutually Assured Destruction – there would be no winner! 

Was the USA now suggesting something different? That a nuclear war could, in fact, be won? 

Tasks

1.
To what extent did the presidency of Ronald Reagan see a major shift in American relations with the Soviet Union?

2.
Why was the Soviet Union so concerned about the development of the American Strategic Defence Initiative?

Section 17: The Endgame

Historians will debate for many years the processes and tensions which led to the end of the Cold War, and the final collapse of the USSR. After the accession of Mikhail Gorbachev to the post of General Secretary of the Communist Party of the Soviet Union in 1985, events seemed to move incredibly quickly.

Gorbachev became Soviet leader in 1985. At that time, the USSR still appeared, to all intents and purposes, to be the same vast, monolithic Superpower it had always been. It still appeared to share domination of the world with the USA, as it had done since the 1950s. The first half of the 1980s had not been a happy time in international relations, with greatly increased tension between the USA and the USSR, and the start of a new, and even accelerating, nuclear arms race. And yet, by 1991, the Soviet Union had ceased to exist as a state, communist control over Eastern Europe had collapsed and the Cold War was over.

The reasons for these immense changes are complex, and beyond the scope of this booklet. However, as we bring the story of the Cold War to its conclusion, it is possible to consider, relatively briefly, some of the factors and issues involved.

Mikhail Gorbachev

Gorbachev realised that the USSR could no longer continue as it had been doing. The country simply could no longer afford the cost of the never-ending rivalry with the Americans. 

The USSR was an immensely powerful country, but it was also a very poor and backward one. The Russian economy was very good at producing the mechanisms of combat: nuclear missiles, jet fighters and bombers, the famous Kalashnikov assault rifle, etc. It had achieved great success in space technology. 

However, the quality of Russian consumer goods was a disaster. Simple products such as a half-decent car, a personal computer, a hi-fi system, a pair of jeans… Russia simply could not match the standards of the West. In major 
areas of the economy such as housing, healthcare, transport, modern industry, the things which were central to the lives of ordinary people, Russia was weak, and falling increasingly behind.

Gorbachev knew that the only way to improve life in Russia was to devote more of the country’s resources to modernising the economy, and less to other areas – principally, the USSR’s vast defence budget.

Therefore, Gorbachev worked hard to improve relations with the USA, with the clear intention of securing a series of arms agreements, which would allow the USSR, at last, to concentrate on internal matters.

The Rekyavik Summit, October 1986
Gorbachev and President Reagan held talks in Iceland. The discussions centred on attempts to remove all medium range nuclear missiles from Europe

Intermediate Nuclear Forces Treaty, December 1987
For the first time in history, the USA and the USSR agreed to reduce their stocks of nuclear weapons. Both Superpowers agreed to remove their nuclear missiles from Eastern and Western Europe. It was agreed that some of the missiles should actually be destroyed.

Nuclear Weapons Reduction Treaty, 1989
This time, the Russians and Americans began to talk seriously about reducing strategic nuclear weapons, the most powerful weapons on the planet.

Eastern Europe

The changes introduced by Gorbachev were highly dramatic. In March 1989, Gorbachev met all the leaders of the satellite states and informed them that the Soviet army would no longer help them to stay in power – they were on their own. The Brezhnev Doctrine had been brought to an end. The USSR simply could not afford to prop up the communist governments in Eastern Europe. It had neither the resources, nor the inclination to do this.

In the months that followed, the communist governments of Eastern Europe simply collapsed. In Poland, after the departure of Soviet troops, free elections were held, resulting in a massive victory for Solidarity. In Czechoslovakia, political prisoners were released in November 1989 – by the end of the month, the communist government had gone.

The most dramatic moments came in Berlin, with the opening of the Berlin Wall, on 9 November, amid scenes of widespread cheering and demonstrations, as the division of Germany finally came to an end.

The collapse of the Soviet Union

By 1990, the USSR was the only communist state left in Europe. Here, too, changes were taking place, as Gorbachev encouraged the ideas of Perestroika (reconstruction) and Glasnost (openness). Russians were being encouraged to speak freely and discuss and debate issues with their government. The people were keen to bring their problems and worries out into the open, something that would have been impossible in the past. 

Gorbachev was now facing opposition from within the Communist Party in Russia. His opponents feared the collapse of all communist authority, and the break-up of the Soviet Union.

On 18 August 1990, Gorbachev was placed under arrest by a group of hard-line communists, who attempted to gain control with the support of the army. However, this led to massive protest demonstrations in the streets of Moscow, with thousands of ordinary Russians taking part. Under the leadership of Boris Yeltsin, the president of the Russian Republic within the USSR, the crowds confronted detachments of soldiers who had been ordered by the conspirators to disperse the crowds. After some moments of tension, Yeltsin persuaded the troops not to take action to disperse the crowds. The attempt by the hard-line communists to seize power, and to reverse the reform movement, was over. 

Gorbachev was released from captivity but, by now, the Russian people had also had enough of communism. Gorbachev had hoped that some kind of reformed communist system might be established in Russia, but it was not to be. The people did not want it.

In August 1991, the Communist Party was declared to be illegal inside Russia.

In December 1991, the Union of Soviet Socialist Republics was dissolved. It was replaced by a new structure – the Commonwealth of Independent States.

Finally, Mikhail Gorbachev finally resigned as leader of the Soviet Union. It was now only a formality – he was the leader of a state that no longer existed.

It was with Gorbachev’s resignation that the Cold War finally, and conclusively, came to an end.

Reference sheets

Reference sheet 1, Source 1, p.25
How useful is Source 1 as evidence of the nuclear arms race between the Superpowers at the time?

This is a question which is asking you to evaluate the source. The exam gives you some guidance as to how you should approach this type of question. You should think about:

· The origin of the source

· The possible purpse of the source

· The content of the source.

Finally, you should add some recalled knowledge.
Let’s try this out and see if we can find enough points to earn some serious marks.

Origin
The source is clearly secondary – it’s from a book called The Cold War, written in 1996 by J W Mason. You could argue that this makes the source useful because it has been written by a historian who has studied the Cold War.

Possible purpose
Why do historians write books? Because they find they find the topic interesting? Remember, you are given some advice about how to use the source… but it does not follow that each of the headings has the same weight or value in your answer. In this case, it is probably difficult to find much that can be gained from writing about the source’s purpose. 

Content
Here we find some substantial pieces of evidence about the nuclear arms race, and you should get some useful marks here. This source is useful because of the information it contains:

· 1957–62: the time of the greatest danger of nuclear war

· the Soviet Union launched Sputnik I

· this had serious military implications, with the USSR in possession of a rocket powerful enough to carry a nuclear warhead against targets in the USA

· the USSR had now changed the East–West strategic balance.

Recall
The source is concerned with one fairly specific aspect of the nuclear arms race. The source is certainly useful, but there are many aspects of the nuclear arms race that it does not mention. You can supplement the first part of your answer with some substantial quantities of relevant, recalled knowledge, but which are highly important:

· the development of hydrogen bombs by both Superpowers

· the development of ICBMs – long-range nuclear missiles

· the first stages of the development of submarine launched missiles – from nuclear submarines that were almost impossible to detect

· long-range bombers armed with nuclear weapons

· tactical nuclear weapons, designed for use on battlefields.

Reference sheet 2, Source 1, p.38
How useful is Source 1 as evidence of the pressure for reform in Hungary at the time?

Origin
There are some good points here. The date of the source is 23 October 1956 – the time when the pressure for reform in Hungary was building up strongly – this makes the source useful.

The source has been produced by students: young, educated people were in the forefront of the reform movement – again making the source useful.

Possible purpose
You could argue that the purpose of the list of demands was to publicise the demands for reform – to whip up support. Again, some useful points to be made.

Content
The source is very useful because it sets out some of the reforms that the students wanted:

· evacuation of all Soviet troops

· election by secret ballot of all Party members

· a new government to be led by Imre Nagy

· the removal from power of the ‘criminal leaders of the Stalin–Rakosi era’

· a general election, by secret ballot, with all parties participating

· workers to be allowed to strike

· freedom of expression of the press and radio.

Recalled knowledge
Now explain some of the pressures for reform, not in the source.

· Hungary had been forced to join the Warsaw Pact, the Soviet-dominated military alliance – the people hated the presence of Soviet troops.

· The Hungarian state was cruel and repressive – people were frightened of the secret police, the press was heavily censored – people could be arrested for criticising the government.

· The standard of living was low: prices were high, and there were often shortages of the most basic of items.

· Trade unions were controlled by the Communist Party, and did nothing to help the workers.

· No trade was allowed with the West.

Reference sheet 3, Source 2, p.40
How fully does Source 3 explain the reasons for the Soviet action in Hungary?

Source
Koniev claims that the Hungarian uprising was started by counter-revolutionaries trying to destroy the people’s democratic system, that is the communist system.

He claims that fascists, extreme right-wingers, were taking part and were a direct threat to the USSR, and to the socialist system. He argues that the Hungarian government had asked for help. The Soviet troops were carrying out their obligations as allies – aiding the Hungarians in preserving the achievements of socialism. 

Koniev’s views are extremely biased: he is giving the Soviet slant on the action taken. It could be a good idea to state in your answer that you recognise this.

Recall
The USSR was worried that communism could collapse in Hungary and Western-style democracy could develop there.

There was very strong support in Hungary for the government led by Imre Nagy, and its reforms. The Russians were worried that these ideas would spread – to other East European countries, and possibly to Russia

Hungary had announced that it was leaving the Warsaw Pact, the Soviet-dominated military alliance, and was becoming a neutral state. The USSR could never permit this – it would weaken Russia’s power in relation to the West.

The Russians might have allowed Hungary a bit more control over its internal affairs, as they had done with Poland, so long as Hungary stayed within the Soviet system. However, the Hungarians had gone much further than this, and Russia simply could not allow things to continue.

You have now used both the source and your recalled knowledge to answer the question. You should now be able to write a balanced and structured answer to the question.
Reference sheet 4, Sources 2 and 3, p.40
Compare the views expressed in Sources 2 and 3 on the situation in Hungary at the time.

Overall comparison
It should, of course, be very clear that the sources disagree very strongly about the situation. Source 2 is very critical of the Soviet action, while Source 3 is very supportive of it.

Detailed comparison
A number of detailed points of comparison can be made.

In Source 2, the radio station claims that Soviet troops are attacking Hungary, for the second time in two weeks – the people are facing fire from tanks and bombers.

In Source 3, Marshall Koniev does not use the words ‘attack’ or ‘aggression’ – Soviet troops are simply carrying out their obligations as allies, on the basis of the Warsaw Pact.

Source 2 claims that the Russians first interfered at the request of a government which the people hated.

Source 3 to an extent supports this when it states that the Soviet troops interfered at the request of the Hungarian People’s republic. However, it says nothing about whether or not the people hated this government.

In Source 2, the radio station states very clearly that the Hungarian people supported Imre Nagy, who had proclaimed their wish for independence and neutrality – the people are still behind him.

Source 3 takes a very different view, claiming that the uprising was started by counter-revolutionaries, trying to destroy the people’s democratic system and to restore the capitalist system, and this was also supported by fascists.

So your answer to this question would have an overall comparison, followed by three substantial comparisons relating to specific sections of the sources.
Glossary
Because of the nature of the subject matter, the Cold War makes use of specialist vocabulary, which is often heavily political in nature. This glossary is provided to assist students in understanding this.

	Anti-Semitism
	Hatred of Jews

	Ballistic missile
	Rocket designed to carry a nuclear warhead

	Brezhnev doctrine
	Theory developed by Leonid Brezhnev in 1968, following the intervention in Czechoslovakia, to justify Soviet intervention in any of the satellite states.

	Capitalism
	Political and economic system based on the ideas of private enterprise

	Central committee
	Ruling body of Communist Parties, in the USSR and Eastern Europe

	Chauvinism
	Extreme form of right-wing nationalism

	Collectivisation of agriculture
	Communist form of agricultural organisation – farms are owned collectively by a group of farmers, rather than by individuals

	Comecon
	Council for Mutual Economic Assistance – Soviet dominated system intended to encourage economic growth and co-operation in Eastern Europe

	Consumer goods
	Goods purchased by ordinary people, and which relate to living standards – clothes, household goods, electrical appliances, etc.

	Conventional weapons
	Non-nuclear weapons – high-explosive bombs, tanks, artillery, etc.


	Counter-revolutionary
	Literally, a person attempting to reverse the course of a political revolution – Frequently used by the USSR during to mean a person opposed to the communist system

	Détente
	Reducing tension – refers to the 1970s when tension between the superpowers reduced, and relations improved.

	Dissenting
	Disagreeing – expressing a different opinion

	Diplomacy
	Negotiations and agreements between nations

	Diplomatic recognition
	The system whereby countries accept each other within the international community, the establishment of embassies and ambassadors.

	Domino theory
	American concept of the dangers of the spread of communism in South East Asia, from one country to another

	Double agent
	A spy or secret agent who, while apparently working for one country, is in reality working for a different one

	Fascist
	Extreme nationalist – usually also racist

	Heavy industry
	Coal-mining, iron and steel, ship-building, etc

	Hot line
	The direct telephone link between the American and Soviet governments, established after the Cuban Missiles Crisis, to reduce the risks of a nuclear war starting due to misunderstanding or confusion

	Ideology
	A key belief or idea, usually political

	Imperialism
	Literally, the establishment of an empire whereby one country takes control of others, frequently used by the USSR when criticising its opponents

	Legitimacy
	Recognised and accepted, usually applied to governments


	Mercenaries
	Soldiers who fight only for payment, and not out of loyalty to any country

	Napalm
	An incendiary or fire-bomb that inflicts serious burns on its victims

	NATO
	North Atlantic Treaty Organisation – Western military alliance, dominated by the USA

	Nixon Doctrine
	Major change in US policy in Vietnam begun by President Nixon, South Vietnamese forces did more of the fighting, American troop withdrawals speeded up

	Ostpolitik
	Attempts by West Germany in the late 1960s and early 1970s to improve relations with Eastern Europe

	Peaceful co-existence
	The growing acceptance by the Superpowers that the existence of nuclear weapons meant that war between them was impossible.

	Politburo
	Key part of the government system of the USSR during the Cold War

	Prague Spring
	Popular name for the period of reforms introduced by Dubcek in Czechoslovakia in 1968.

	Pravda
	Leading Soviet newspaper

	Presidium
	Important part of the government system of communist states

	Propaganda
	The organised spread and distribution of information, usually to assist a political system or cause

	Reactionary
	Usually means a person opposed to political change, frequently used by the USSR against political opponents

	Repressive
	Usually applied to political systems where individual do not enjoy democratic rights and freedoms


	Satellite states
	Those countries in Eastern Europe that were heavily dominated by the USSR during the Cold War

	Secretary of state
	Senior member of the American government concerned with USA’s relations with the rest of the world

	Strategic nuclear weapons
	The most powerful weapons of the Cold War, capable of inflicting immense destruction, able to destroy entire cities

	Subjugation
	Forcing people or countries to submit to superior strength

	SLBM
	Submarine Launched Ballistic Missile

	Surgical strike
	The idea of resolving a crisis, or removing a threat, by the speedy and decisive use of force

	Tactical nuclear weapons
	Nuclear weapons designed for battlefield use by ground, naval or air forces, less powerful than strategic weapons.

	Telex
	Transmission of information using teleprinters – distant ancestor of emails

	Totalitarian
	Dictatorial political system, one-party government.

	Vietnamisation
	The increased use of South Vietnamese forces in the latter stages of the Vietnam War

	Warsaw Pact
	Military alliance of the Eastern European states, dominated by the USSR
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